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BEFORE WE START...  
)Æ ÁÔ ÔÈÅ ÅÎÄ ÏÆ ÔÈÅ ÂÏÏË ÙÏÕ ÅÎÊÏÙÅÄ ÉÔ ÏÒ ÆÏÕÎÄ ÉÔ ÕÓÅÆÕÌ )ȭÄ 

ÂÅ ÖÅÒÙ ÇÒÁÔÅÆÕÌ ÉÆ ÙÏÕȭÄ ÐÏÓÔ Á ÓÈÏÒÔ ÒÅÖÉÅ× ÏÎ !ÍÁÚÏÎȢ 9ÏÕr 

support really does make a difference and I read all the 

reviews personally so I can get your feedback and make this 

book even better. 

For additional free resources and if you have any question go 

to www.fourweekmba.com 

We are on YouTube, Facebook, and twitter. Follow us!  

Thanks again for your support! 

At the end of this book you will find a gift ! 

 

 

 

 

 

 

 

 

 

  

http://www.fourweekmba.com/
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WHY I WROTE THIS BOOK 
In the modern world, things change so fast that after a blink 

of an eye the world seemed changed. Few things remained 

unchanged and one of these is accounting. Of course few 

frameworks have been created over the 20th century to 

tackle issues such as fraud and transparency. Indeed, 

although the basic method of accounting remained the same, 

many people do not approach the discipline and look at it 

almost with a skeptical eye. As if the understanding of it is 

reserved to few wise men, part of a small circle. These men 

use their own language to communicate. This language so 

strange and intriguing gives offspring to the financial 

organization of any business, small or big, individual or 

multinational. In this book we are going to burst this myth. 

Indeed, aÃÃÏÕÎÔÉÎÇ ÉÓ ȰÓÉÍÐÌÅȢȱ #ÏÒÒÅÃÔȟ ) ÄÉÄ ÎÏÔ ÓÁÙ ȰÅÁÓÙ,ȱ 

because it is not. Actually, I believe that accounting is the art 

of making easy things hard. Single transactions that in the 

real world seem  straightforward in the accounting world 

become sometimes incomprehensible. For example, a single 

payment form your customer, with credit card, with 

consequent assessment of bank fees, can become a plethora 

of journal entries, where you have to debit or credit multiple 

accounts in a dance of magic movements that seem almost to 

replicate the birds of paradise mating dance. This dance so 

confusing at ourÓÉÄÅÒÓȭ ÅÙÅÓȟ ÉÓ ÉÎÓÔead linear and amusing at 

the femaleȭÓ eyes. The enlightened accountant, like the bird 

of paradise female is able to translate immediately the input 

from the real world in accounting output. He does not think 

in words, but in Journal Entries. My wish, at the end of this 

book is for you to form the accountant mindset. Eventually, 

the real world will  not seem so far apart from the accounting 

world . Having said that, on one hand this book wi ll approach 
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the discipline in the simplest way possible. On the other 

hand, the language used will be straight-forward and easy to 

understand. This will make the comprehension of the 

discipline quickly digested to anyone.  
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ACCOUNTING REVEALED IN 100 PAGES 
This book will help you to have a complete understanding of 

the basic concepts of the financial accounting world, quickly 

and painlessly. Indeed, all fluffing and jargon has been wiped 

out and space left to a simple language. After completing my 

Internation al MBA across Europe and US, I worked as 

assistant controller for few years in California. I realized that 

most of the time accountants do not know how or do not 

want to be understood. This text, instead, has been 

structured to give you the whole understanding of the 

discipline. The book has been structured in three parts. In 

Part One, you will learn how the accounting process is 

structured. In Part Two, you will study the main financial 

statements. In Part Three, you will learn the toolbox the 

financial and non-financial professional can use to quickly 

assess the health of any organization. At the end of the book 

you can expect to have a basic understanding of the main 

concepts of financial accounting. In addition, you can check 

out at www.fourweekmba.com for additional resources 

made available to our students.  

  

http://www.fourweekmba.com/
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This book is dedicated to who like me believes that 
learning is a process. Trust the process and you will learn 
anything. 
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PART ONE 

THE ACCOUNTING CYCLE 
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CHAPTER 1. THE POWER OF 

ACCOUNTING 
Ȱ9ÏÕ ÈÁÖÅ ÔÏ ÕÎÄÅÒÓÔÁÎÄ ÁÃÃÏÕÎÔÉÎÇ ÁÎÄ ÙÏÕ ÈÁÖÅ ÔÏ 

ÕÎÄÅÒÓÔÁÎÄ ÔÈÅ ÎÕÁÎÃÅÓ ÏÆ ÁÃÃÏÕÎÔÉÎÇȢ )ÔȭÓ ÔÈÅ ÌÁÎÇÕÁÇÅ ÏÆ 

business ÁÎÄ ÉÔȭÓ ÁÎ ÉÍÐÅÒÆÅÃÔ ÌÁÎÇÕÁÇÅȱ Warren Buffett i 

In a globalized world, where change happens so quickly that 

companies that existed for centuries (such as Lehman 

Brothers, founded in 1850, bankrupted in 2008) just few 

things stick for centuries.  

The current accounting system is one of the few survivors. 

Born in 1494, when a Venetian Merchant, Luca Pacioli, in his 

Ȱ3ÕÍÍÁ ÄÅ !ÒÉÔÈÍÅÔÉÃÁȟ 'ÅÏÍÅÔÒÉÁȟ 0ÒÏÐÏÒÔÉÏÎÉ Åt 

ProportiÏÎÁÉÌÔÁȟȱ described for the first time the double 

entry-systemii. This practical manual gave official birth to a 

system that is still used in current accounting.   

Even people who hate accounting recognize the importance 

of it. If you either own a small business, or you are a CFO, 

CEO, COO, a common citizen, you have to understand 

accounting to recognize what is behind each one of the 14 

trillions transactions per day, just in USiii .  
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GAAP PRINCIPLES 
Although, the fundamental aÃÃÏÕÎÔÉÎÇ ÓÙÓÔÅÍ ÈÁÓÎȭÔ 

changed, the principle and rules applying today have been 

updated in the last century.  

The general accepted accounting principles are standards 

and procedures used by organizations to submit their 

financial statements.  Today we have two main accepted 

frameworks, globally: GAAP and IFRS; in this chapter I will 

focus mainly on GAAP. Indeed, after the 1929 market crash, 

American government felt the necessity to create a set of 

rules to discipline and conform the accounting system, and 

avoid what had happened. In the decade after the 1929 

market crash institutions such as the Securities and 

Exchange Commission were created. In 1934, the SEC, 

assisted by the American Institute of Accountants (AIA), 

started to work on the GAAP. The AIA subsequently 

instituted an organism to specifically create these principles: 

The Committee on Accounting Procedure (CAP). Finally, the 

first set of GAAP was created and in 1973 and the CAP board 

was substituted by the Financial Accounting Standards Board 

(FASB). From this work came out 10 basic principles, that are 

the foundation of the modern accounting system in USiv: 

¶ Economic entity assumption: If you have a business, 

even if you are a sole proprietor, the accountant will 

consider yourself separately from your business.    

¶ Monetary Unit Assumption: The Business activity you 

undertake is considered in US Dollars. 

¶ Time Period Assumption: Business activity you 

undertake can be reported in separated time 

intervals, such as weeks, months, quarters or fiscal 

years. 
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¶ Cost Principle: If you buy an item in 1980 at $100, it 

will be reported on your balance sheet as worth $100 

today, independently on inflation or appreciation of 

the asset.   

¶ Full Disclosure Principle: You have to report all the 

relevant information of the business in the financial 

statements or in the footnotes. 

¶ Going Concern: The accountant assumes that your 

business will continue its operations in the 

foreseeable future.  

¶ Matching Principle: If you incur an expense, it should 

be matched with the revenues, according to the 

accrual principle. If you decide to pay your 

employees a bonus related to 2015 but you pay it in 

2016, you still will report it as 2015. You will report 

the expense when it was recognized and not when 

actual cash was disbursed (accrual principle). 

¶ Revenue Recognition Principle: if you sell a product in 

January 2015 but you will receive the money from 

the customer in April 2015, you will report the sale in 

January, since it was the period when the actual sale 

was realized.  

¶ Materiality Principle: when you report the financials, 

it will be allowed to round them, since if an amount is 

insignificant can be neglected by your accountant.  

¶ Conservatism Principle: When in doubt between $80 

and $100 loss, your accountant has to choose the 

most conservative alternative, report $100.  

 

These principles are ÔÈÅ ȰÔÅÎ commandmentsȱ for the 

accountant. Keep them in mind. They will guide you 

throughout the book. In addition, the accrual principle in 
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practical terms statesȡ ȰRevenues and expenses are recognized 

when occurred, independently from cash disbursement.ȱ This 

principle is crucial to build our main financial statements, in 

particular the Income Statement and Balance Sheet.  



 14 

CHAPTER 2. DOUBLE-ENTRY SYSTEM 
Ȱ9ÏÕ ÈÁÖÅ ÔÏ ËÎÏ× ÁÃÃÏÕÎÔÉÎÇȢ )ÔȭÓ ÔÈÅ ÌÁÎÇÕÁÇÅ ÏÆ Ðractical 

business life. It was a very useful thing to deliver to civilization. 

)ȭÖÅ ÈÅÁÒÄ ÉÔ ÃÁÍÅ ÔÏ ÃÉÖÉÌÉÚÁÔÉÏÎ ÔÈÒÏÕÇÈ Venice, which of 

course was once the great commercial power in the 

Mediterranean. However, double entry bookkeeping was a hell 

of an iÎÖÅÎÔÉÏÎȢȱ Charlie Munger v  

As any other language, the accounting system has its own. 

Indeed, in accounting in order for you to record a transaction 

you have to use the double-entry system. Double-entry 

means that each single transaction needs to be recorded 

twice, on the left side if debited and on the right side if 

credited. Usually, when you think of debit or credit in real life 

is different compared to debit or credit in accounting. In fact, 

debit does not mean that you have a debt to be paid back; 

neither credit means that you have money to receive.  

For example, in the accounting world, when cash is debited, 

it means the cash on your bank account increased. Therefore, 

you received cash. I know it may sound counterintuitive, but 

this system was created five hundred years ago and it is the 

ÓÙÓÔÅÍ ÔÏÄÁÙȭÓ ÁÃÃÏÕÎÔÁÎÔÓ ÕÓÅ ÔÏ ÒÅÃÏÒÄ ÅÁÃÈ ÓÉÎÇÌÅ 

transactions.  
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T-ACCOUNTS: THE FOUNDATION 
The most effective way that accountants use to record each 

single transaction in the ledger is the T-Account. Although, 

most of the accounting Software today do it automatically, it 

is helpful to know how it works.  

    

     

 

 

This visual aid helps the accountant to record a single 

transaction. Each account, in fact, has two sides, debit and 

credit. Therefore, for a transaction to satisfy the accounting 

requirements has to be recorded on both sides. We will see 

that in the next paragraph. Eventually, all the transactions 

collected for a certain period flow in the General Ledger (See 

General Ledger, Chapter 2) 

JOURNAL ENTRY: THE DOUBLE FACED ENTRY 
Assuming you own a bakery that just sold $100 worth of 

biscuits. In the real world, it appears as a single transaction. 

Therefore you may think the same applies in the accounting 

world. Instead, it is more complex since each single 

transaction implies two concurrent movements. When you 

sold $100 of biscuits, your customer paid in cash. It means, 

on one hand, the $100 is debited to the cash account, while 

on the other hand, the $100 is credited to the income 

account. It will look like the following: 
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ACCOUNTS AND CHART OF ACCOUNTS (COA) 
By defining Accounting as the language, we can define the 

accounts as the letters of the alphabet. Indeed, the accounts 

allow to categorize the bunch of transactions happened in a 

certain period, under the same umbrella. The account is a 

record where all the debit and credit transactions are 

recorded. In the previous paragraph you saw already two of 

the main accounts, Assets and Revenue.  These accounts get 

organized under a Chart of Account (COA) or a list of items 

identified by an organization that will flow in the General 

Ledger (GL).  This will help the company to build reports 

such as: Balance Sheet (BS), Income Statement (P&L) and 

Cash Flow Statement.  Setting up a clear and consistent COA 

is crucial for the accounting department internal 

organization. Indeed, a disorganized COA can lead to many 

accounting mistakes and inaccuracies. Below an example of 

best practice: 

 

 

vi 
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As you can see, it is suggested to use four figures. In the 

specific example, each account has its own range. Indeed, the 

assets are shown under 1xxx, liability 2xxx, equity 3xxx and 

so on. It is advisable, when setting up the accounts to leave 

some space between the sub-accounts. For example, under 

assets we have the sub-ÈÅÁÄÉÎÇ ȰÃÕÒÒÅÎÔ-ÁÓÓÅÔÓȢȱ Within the 

Current Assets, we have items such as: Cash Account, 

Accounts Receivable, Inventories and Prepaid Expenses. 

Therefore, we will have: Current Assets, 1100 code; Cash 

Account, 1110 code; Accounts receivable 1200 code; 

Inventory 1300; Pre-paid Expenses 1500 code. Give space 

between the sub-accounts, this allows you to set up new sub-

accounts when needed. For example, if two new cash 

accounts are opened, you can use the coding from 1111-

1199. Therefore, you have plenty of space to organize your 

COA. Setting up an organized COA and making sure everyone 

follows it rigorously in the organization is crucial. Indeed, 

according to the codes generated, all the internal reports will 

be built. Such as historical AR, AP, P&L, BS, GL, CFS. If the 

coding is wrong or disorganized so your reports will be.  

The main accounts are:  

¶ Assets: Resources owned by an organization. They 

will produce future benefits for the company. For 

example, you own a bakery that has to produce 

biscuits. In order for you to produce them, you have 

to buy a machine. The machine will be an asset for 

your organization.  

¶ Liabilities: Obligations (Debt) contracted by an 

organization. Your bakery bought $100 of raw 

material from the supplier and you will pay in 60 
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days. Until the payment will be made the $100 will 

show as liability (future debt) on your balance sheet.  

¶ /×ÎÅÒȭÓ %ÑÕÉÔÙȡ Amount of money or resources you 

endowed to your organization. The accounting 

ÄÅÆÉÎÉÔÉÏÎ ÉÓȡ /×ÎÅÒȭÓ %ÑÕÉÔÙ Ѐ !ÓÓÅÔÓ ɀ Liabilities. 

¶ Revenue or Income: The $ amount of sales occurred in 

a certain period. According to the accrual principle, 

income is recognized independently from cash 

receipt.  

¶ Expenses: The $ amount of costs occurred in a certain 

period. According to the accrual principle, expenses 

are recognized independently from cash 

disbursement. 

 

HOW TO RECORD JOURNAL ENTRIES 
Let me show you now a table that will help you with the 

recording or journal entries related to the single accounts. 

Indeed, Assets have different sets of rules compared to 

liabi lities when it comes to the debit and credit (double 

entry) system.  
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If you look at the asset, they move in the same sense of the 

expenses.  

Instead, Liabilities, Income and Equity (Investment) move in 

the opposite direction.  We can use a mnemonic technique to 

recall the table above, such as: ȰEdgar and Alan liedȱ. 

Therefore: ȰEdgarȱ (Expense) and Ȱ!ÌÁÎȱ ɉ!ÓÓÅÔɊ move 

togetherȟ ȰLiedȱ (Liabilities + Income + Equity), move 

together in the opposite direction.   

CASH VS ACCRUAL  
In chapter 1, through the matching and revenue recognition 

principle, we saw that GAAP calls for the accrual principle. 

Furthermore, while big corporations or listed companies 

have to report their financials in accrual basis, this is not 

always true for small businesses that instead can choose 

between the accrual and the cash basis.  

What is the difference between the two?  

The former states that revenue/expense must be recognized 

in the moment in which they occur independently from cash 

receipt/disbursement. For example, if you buy $50 of raw 

materials, and your supplier delivers it to you, the expense 

will be recognized, even though you will pay in 60 days. See 

the transaction below: 

 

 
 
 
 
The latter, instead, states that revenue/expense must be 
recognized when cash is received/disbursed. For example, if 
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you buy $50 of raw materials, the expense will be recognized 
in the moment your supplier receives the cash from you. See 
the transaction below: 

 

 

 

 

 

THE GENERAL LEDGER  
It  is the centerpiece of the accounting cycle. Indeed, the 

General Ledger (GL) is an overwhelmingly long and big book 

where all the transactions related to a certain period are 

recorded. Today, the GL is automatically generated by 

accounting software such as QuickBooks and SAP. From the 

GL all the main financial statement reports are generated. 

One of the main tasks of the accountants is to keep it as clean 

as possible. Thus, the accuracy of the GL is crucial for the 

accuracy of the reports generated.  
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CHAPTER 3. THE ACCOUNTING WHEEL 
Ȱ) ÊÕÓÔ ×ÁÎÔÅÄ ÔÏ ÂÅ Á ÂÕÓÉÎÅÓÓÍÁÎȟ ÁÎÄ ÆÏÒ ÍÅ ÔÈÅ ÂÅÓÔ ×ÁÙ ÔÏ 

ÕÎÄÅÒÓÔÁÎÄ ÂÕÓÉÎÅÓÓ ×ÁÓ ÔÏ ÂÅ ÁÎ ÁÃÃÏÕÎÔÁÎÔȱ Aubrey 

McClendon (Credit: BrainyQuote) 

THE ANGRY BOSS 
)Ô ÍÁÙ ÓÅÅÍ Á ÌÉÔÔÌÅ ÏÄÄ ÔÏ ÔÉÔÌÅ ÔÈÉÓ ÐÁÒÁÇÒÁÐÈ Ȱ4ÈÅ !ÎÇÒÙ 

"ÏÓÓȱȟ ÌÅÔ ÍÅ ÇÉÖÅ ÙÏÕ ÁÎ ÅØÐÌÁÎÁÔÉÏÎ ÆÏÒ ÔÈÁÔȢ )Î ÍÏÓÔ ÏÆ ÔÈÅ 

firms, from IT to Manufacturing, before the financials are 

given to the CFO, they follow a rigorous internal process.  

According to the firm size, this process may involve few to 

dozens people within and outside the accounting 

department. An accountant knows how rigorous the process 

is and if any step is missed or not taken properly, this will 

make the boss very angry. The boss of the bosses within the 

accounting department is the Controller.  Who is the 

Controller? Let me show you the organizational chart of the 

accounting department: 

 

 

 

 

 

 

 

 

http://www.brainyquote.com/quotes/authors/a/aubrey_mcclendon.html
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At the bottom of our pyramid there is the AP (accounts 

payable specialist), AR (accounts receivable specialist) and 

Payroll specialist. Once transactions have been collected and 

recorded in the system Assistant Controller in cooperation 

with Controller review and close the books. Ȱ#ÌÏÓÉÎÇ ÔÈÅ 

booksȟȱ means locking them up with a special passcode or 

other systems, to avoid past transactions to be manipulated. 

Furthermore, the reports generated by the system will be 

sent to the CFO who will analyze them with help of Financial 

Analysts. The set of internal procedures within the 

accounting department take a shape that looks like the 

Ȱ!ÃÃÏÕÎÔÉÎÇ 7heelȱ below:  

 
 

 

 

 

 

 

 

Source Documents ɀ Always have a back up.  The accounting 

process is rigorous and time consuming. It starts with the 

payments made by customers and invoices generated by 

suppliers. Before any transaction can be recorded in the 

system, it needs approval by the manager who received the 

payment from the customer or the invoice by the supplier. 

The accountant will ask for documents to supports such 
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transactions. Once these source documents are collected, the 

accountant will record the transaction in the system. The 

recording will happen with the same principles you saw in 

chapter 2 (How to record journal entries).  

Reconcile The Books. At this stage, the books need to be 

reconciled. The reconciliation process happens each month.  

Why do you need to reconcile the books?  

The purpose of this process is to make sure all the 

transactions recorded in the accounting system are matching 

×ÉÔÈ ÔÈÅ ÃÁÓÈ ÔÒÁÎÓÁÃÔÉÏÎÓ ÈÁÐÐÅÎÅÄ ÏÎ ÔÈÅ ÃÏÍÐÁÎÙȭÓ ÂÁÎË 

accounts. This phase is crucial, and it implies a lot of hard 

work for the accountants. Indeed, if any mismatching is 

found between what recorded in the system and what shown 

on the bank account it may signal other issues and it needs to 

be resolved, before the books are closed. Even though most 

of the accounting processes are automated, this stage is 

actually very manual. In fact, many times accountants have to 

check, one by one, all the transactions happened in a certain 

month and compare it with the Bank Statement issued by the 

Bank. If something is not reconciling, the accountants after 

ControlleÒȭÓ ÁÐÐÒÏÖÁÌ ×ÉÌÌ ÒÅÃÏÒÄ Ȱadjusting entriesȱ to 

balance the books again. The adjusting entry works like a 

journal-entry. It is called Ȱadjustingȱ because it is entered in 

special circumstances.  

 

Audit & Close the Books. At this stage of the process, financials 

(General Ledger, Balance Sheet, Bank Reconciliations, 

Accounts Receivable, Accounts Payable, Income Statement) 

and other back up collected by accountants are audited. The 
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auditing phase helps to assess whether the internal 

procedures have been followed. 

Eventually, the Assistant Controller or Controller proceeds 

with closing the books. Closing is like locking a door to avoid 

anyone entering again. Indeed, if books were not closed, 

anyone could go back and change transactions happened in 

the past, this would damage irreparably your books. In 

addition, the closing is crucial at the end of the year for tax 

return purposes.  

The Happy CFO: Eventually, the financials are ready for the 

CFO.  After the time consuming job of the accountants 

directed by the Controller, reports are officially generated. 

The accounting software delivers the reports to the upper 

management. Of course, the CFO gives direction to the 

accountants throughout the whole process. Accountants 

perform the time consuming part. They must deliver clean 

and accurate reports to the upper management.  

As you saw from this chapter, although management takes 

such reports fro granted, there is a lot of work going on 

before they are produced. Indeed, also what would be 

otherwise considered a minor oversight can have bad 

consequences on the accounting books (think of when your 

balance-sheet does not reconcile, you are in trouble also if 

the amount missing is $1). Therefore, it is crucial to establish 

a clear and manageable process, where the workflow within 

and without the accounting organization is continuous.  

Keep reading until the end and get the gifts The Four-Week 

MBA has prepared for you.  
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PART TWO 
FINANCIAL STATEMENTS 
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CHAPTER 4. A BRIEF OVERVIEW OF 

THE MAIN FINANCIAL STATEMENTS  
Ȱ)Ô ÈÁÓ ÂÅÅÎ ÍÙ ÅØÐÅÒÉÅÎÃÅ ÔÈÁÔ ÃÏÍÐÅÔÅÎÃÙ ÉÎ ÍÁÔÈÅÍÁÔÉÃÓȟ 

both in numerical manipulations and in understanding its 

ÃÏÎÃÅÐÔÕÁÌ ÆÏÕÎÄÁÔÉÏÎÓ ɉÁÃÃÏÕÎÔÉÎÇɊȟ ÅÎÈÁÎÃÅÓ Á ÐÅÒÓÏÎȭÓ 

ability to handle the more ambiguous and qualitative 

relationships that dominate our day-to-day financial decision-

ÍÁËÉÎÇȱ Alan Greenspan (Former FED President) 

The first part of this text, focused on the accounting cycle and 

internal processes. IÎ ÆÅ× ×ÏÒÄÓ ÙÏÕ ×ÅÒÅ ÓÈÏ×Î ÔÈÅ ȰÈÏ× 

ÔÏȱ ÔÈÁÔ ÉÎÔÅÒÎÁÌÌÙ ÌÅÁÄÓ ÔÏ ÔÈÅ ÐÒÏÄÕÃÔÉÏÎ ÏÆ ÆÉÎÁÎÃÉÁÌ 

reports. In the second part of the text, you will be shown the 

Ȱ7ÈÙȱ ÁÎÄ Ȱ(Ï×ȱ ÏÆ ÔÈÅ main financial statements used in 

report ing and financial accounting. Indeed, even though 

financial statements are produced for internal management 

as well, most of the time they are pointed externally.   

INTRODUCTION TO THE MAIN FINANCIAL STATEMENTS  
The main financial statements are: Balance Sheet, Income 

Statement and Cash Flow Statement. Each of these 

statements has a different purpose and together they give us 

ÓÐÅÃÉÆÉÃ ÉÎÆÏÒÍÁÔÉÏÎ ÉÎ ÒÅÇÁÒÄ ÔÏȡ ȰReturn, Risk and CashȱȢ  

First, if you look at the income statement, there is no way you 

would make any assessment about the risk of the 

organization in that particular point in time or the cash 

produced in a certain period. Instead, the Income Statement 

(or Profit & Loss) will show you the return  generated by the 

business.  

Second, if you want to understand how an organization 

acquired the resources to operate the business, you have to 
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look at the Balance Sheet. How does the balance sheet assess 

the risk  of an organization? Simple: there are two ways a 

company can acquire resources, either through Equity or 

Debt. As you can imagine, too much debt can be dangerous. 

What would occur if you run a business and suddenly your 

creditors ask for the money you owe them? You would go 

bankrupt. Instead, when debt in proportion to the equity is 

dismal, this makes your organization creditworthy and safer. 

Third, it happened many times in the financial world history 

to see profitable companies bankrupted due to a poor cash 

management.  The cash flow statement helps you to answer 

questions such as: How much cash did we make? Where did 

the cash come from? In fact, an organization can find cash 

through three main activities: Operating, Investing and 

Financing.  

INCOME STATEMENT (P&L): SHOW ME THE BOTTOM 

LINE 
 

The main purpose of the income statement is to show the 

return  of the business in a certain period: Quarterly, 

Biannually or Yearly. The income statement is built around 

the bottom line, the Ȱnet profit.ȱ Do not be surprised to notice 

your eyes unexplainably falling on the net income. In fact, 

accountants make it as visible as a fluorescent fish ready to 

mate. This distracts you by other metrics on the Income 

Statement that are as important as the Net Income (We will 

see them in Chapter 8). 
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BALANCE SHEET: THE POWER OF THE NOW 
The main purpose of the Balance Sheet is to show the risk  of 

the business in the particular moment you are looking at it. 

In Fact, if you look at the balance sheet on January 1st ÉÔ ×ÏÎȭÔ 

be the same on January 2nd.  Of course, this is true for the P&L 

and CFS (Cash Flow Statement) as well, but the balance sheet 

is an instant snapshot of the business more than a collage of 

pictures taken in different moments, like the Income 

Statement.  

CASH FLOW STATEMENT (CFS): CASH IS KING 
The main purpose of the CFS is to show the cash generated 

by an organization in a certain period: Quarterly, Biannually 

ÏÒ 9ÅÁÒÌÙȢ  )Ô ÄÏÅÓÎȭÔ ÍÁÔÔÅÒ ÈÏ× ÍÕÃÈ ÐÒÏÆÉÔÓ Á ÂÕÓÉÎÅÓÓ ÉÓ 

making, one way to know whether the business will survive 

in the next future is to look at the cash. Generating cash is not 

easy task and the organizations who are able to keep their 

profits stable and generate enough cash to sustain their 

operations and invest for future growth are the ones who 

thrive.  

 

REAL LIFE ANALOGY 
Let me use a real life analogy here. If you are a photographer 

in order for you to do your job, you must have a professional 

camera. In addition, you can take instant pictures or build a 

collage of pictures you have taken in the last three months, 

and remember the camera will work as soon as the battery 

will be charged. Indeed, you can compare the single picture 

ÏÒ ȰÉÎÓÔÁÎÔ ÐÉÃÔÕÒÅȱȟ ÁÔ your balancÅ ÓÈÅÅÔȟ ×ÈÉÌÅ ÔÈÅ ȰÃÏÌÌÁÇÅȱ 

pictures taken in the last three months, at your P&L. 

&ÕÒÔÈÅÒÍÏÒÅȟ ÙÏÕ ×ÁÎÔ ÔÏ ÓÅÅ ×ÈÁÔȭÓ ÔÈÅ ÌÅÖÅÌ of charge of 
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the battery and how long the camera will operate. The 

battery life can be compared to your CFS. Indeed, a lack of 

cash for a business is almost like a lack of oxygen for an 

individual. According to your needs you can look separately 

at each statement. However, if you want the whole picture of 

the business you must look at all of them concurrently.   
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CHAPTER 5. THE INCOME STATEMENT  
Ȱ.ÕÍÂÅÒÓ ÈÁÖÅ ÌÉÆÅȟ ÔÈÅÙ ÁÒÅ ÎÏÔ ÊÕÓÔ ÓÙÍÂÏÌÓ ÏÎ Á ÐÉÅÃÅ ÏÆ 

ÐÁÐÅÒȱ Shakuntala Devi  (Credit: BrainyQuote) 

At this stage, you know already, when you look at your P&L, 

it will answer  questions such as:  

Is the company making any return?  

Is the organization making enough revenues to cover for its 

expenses?  

Let us see a real Income Statement below:  

 
The Income Statement or Profit and Loss is a financial 

statement that shows the Profit or Loss incurred by an 

http://www.brainyquote.com/quotes/quotes/s/shakuntala598206.html
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organization in a certain period of time. In this example we 

saw the P&L for the year. In addition, this statement can be 

produced for the year, quarter, month. In regard to reporting 

purposes, instead, the P&L can be published every three or 

six months. In the above example the P&L shows the Income 

as positive and the costs as negative. There are several 

methods to present the P&L.  On one hand, you can use the 

method where costs are reported already as negative 

numbers compared with revenues.  Indeed, to obtain the 

Gross Profit (third line), you can simply use the sum() 

formula in excel:  

 
 

On the other hand, you can use another method, where all 

the items are shown with a positive sign and then you just 

subtract the costs from the revenues to obtain the Gross 

Profit. See the example below: 

 

 
Whether you decide to use the first or second method it is 

irrelevant, however what matters is consistency. In fact, if 

you use this method for your income statement you must use 

it across all the other financial statements you are building, 

to avoid confusion.  

In the following chapter, the accrual principle will be our 

guiding principle. For Example, prepaid expenses incurred in 
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Year 2, will not appear on the P&L the following year. The 

same applies to the revenues. If customers paid in advance 

for service to be rendered, the income will be not recognized 

until the service will be provided.  

REVENUE 
The first item of the Income Statement is Revenue. Imagine 

you have a bakery that sells donuts at $1 each and you sold 

100 donuts, your total revenue for the day will be $100. Even 

though some customers paid with credit cards and the cash 

on your bank account will be deposited within thirty days 

you will still recognize $100 in Revenue.  

How can we break the Revenue down?  See the diagram 

below: 

 

The two main sources of Income are coming from: core 

business operations or outside core business operations. 

Furthermore, we can identify the former as Operating and 

the latter as Non-Operating revenue.   
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¶ Operating Revenue: They are generated by the sales 

coming from the core product or service, which the 

organization produces.   

Example: Imagine owning a Pizza Store. The income 

generated by selling pizzas will be considered 

Operating Revenue. In the example, the Operating 

Revenue formula is: price per unit times Units Sold 

(Volume). Indeed, if the price for your pizza is at $1 

per unit, and 100 pizzas were sold, your revenue will 

be $100.  

¶ Non-Operating Revenue: They are generated by sales 

coming from sources not related to the core business 

operations. 

Example : Imagine your Pizza Store business is going 

pretty well and you are generating cash in excess that 

can be invested in short-term instruments such as 

bonds. Later, you go to the bank and buy $1,000 of T-

Bills. This is a short-term debt obligation backed by 

U.S. government with a maturity of less than one 

year. Your T-Bills are due in six months, after that 

you will receive a simple interest of 2% annually or 

$10. The $10 you receive after six months is Interest 

Income or non-operating revenue, also described as 

incidental or peripheral income. However, on your 

balance sheet the interest income will be reported 

after the interest expense, almost like an offsetting. It 

is more accurate to report the interest income 

together with the other non-operating expenses. In 

this way the income generated by interests will not 

distort our  Gross Income. Indeed, the Gross Income is 

a metric of operational efficiency. See below how to 

display your interest income: 
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EXPENSE 
The other main component of the income statement is 

cost/expense. There are many costs incurred by an 

organization. That is why most of the time can be very tricky 

to categorize them. In addition, cost categorization is crucial 

for any business, since they represent a big piece of the pie of 

ÁÎÙ ÏÒÇÁÎÉÚÁÔÉÏÎȭÓ ÐÒÏÆÉÔÓȢ )f not managed properly can lead 

to big issues, ultimately to bankruptcy. In fact, there are 

several methods that can be used to classify costs, such as: 

Operating vs. Non-operating, Direct vs. Indirect, Variable vs. 

Fixed. It all depends by the perspective from which you look 

at them. Each one of these methodologies has the purpose of 

better understanding the cost structure of the organization, 

the so-ÃÁÌÌÅÄ ȰÃÏÓÔ ÁÃÃÏÕÎÔÉÎÇȢȱ In this chapter we are going 

to take into account three main categories of costs for 

reporting purposes:  

¶ Cost of Goods Sold (CoGS) 

¶ Operating Expenses 

¶ Non-Operating Expenses  

 

Cost of Goods Sold (CoGS) is the cost incurred to generate the 

revenue for the period in consideration. For example, a 

company who produces Smart Phones will have actual costs 

of production. These costs, such as: Raw Materials, Wages 

associated to manufacturing, Overhead costs of running the 

factories, will be all considered CoGS. These costs can be 

defined as direct costs as well. After subtracting CoGS from 

Revenue we get the Gross Profit. This metric can be pretty 

useful in assessing the profitability and efficiency of the 

business when it comes to the manufacturing process. We 

will see it more in detail in Chapter 7. 
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Operating Expenses are all the costs not included in the CoGS. 

These costs are related to the operations of the business, 

such as: Advertising, salaries and wages, phone and Internet. 

However, they are not incurred to generate sales or at least 

in many cases it is hard to track the effect of this cost over 

the additional sale incurred by the organization. After 

subtracting the operating expenses from Gross Profit we get 

the Operating Profit. This metric is useful as well to assess 

the profitability and efficiency of the business when it comes 

to the overall operations. We will see it more in detail in 

Chapter 8. 

Non-Operating Expenses are the remaining costs not included 

in the previous categories. They are incurred outside the 

business operations (non-directly tied to business 

operations).                                                                                   

Example: Imagine you own a Coffee Shop. Suddenly your 

sales plunge, you still need money to finance the operations, 

since the alternative would be closing the business. 

Therefore, you go to the bank and ask for a short-term loan 

of $4,000 that will be repaid in six months. The loan will 

carry a simple interest of 5% annually. Therefore, at the end 

of the six months, after paying the principle, you will 

eventually pay for the interest of $100. The money paid as 

interest will show under the Income Statement as interest 

expense for that period.  

The revenue minus the operating and non-operating 

expenses for the period, give us the Net Income. This metric 

is very important to assess the overall efficiency and 

profitability of the business. We will see it in detail in Chapter 

8.  
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NET PROFIT: GET READY FOR A SHOCKING TRUTH  
Whichever profits are shown on your income statement they 

do not tell you anything about cash. It might be a shocking 

truth for who is new to Accounting. Indeed, this is not always 

true, especially if we operate under the cash basis, instead of 

the accrual basis principle. On the other hand, remember that 

according to GAAP standards, the accrual principle is our 

guide throughout this book. Therefore, we will see it more in 

details in Chapter 7, when you will be shown the cash flow 

statement. As of now, it is useful for you to understand that 

in the P&L, because of the accrual principle, the revenue and 

expense must be only the ones related to the period in 

consideration.  

Example: Imagine you own a bakery that sold $1,000 in 

chocolate cakes in the first month. This event does not imply 

that you have $1,000 on your bank account. In fact, most of 

the time customers pay within 60/90 days. Therefore, half 

was received in cash; the other half was bought on credit. 

Thus, the first half ($500) is an actual cash inflow, the other 

half ($500), instead will be reported on your Balance Sheet. 

The transaction can be recorded like the following: 

 

 

 

 
 

Imagine now, the bakery incurred $500 of expenses in that 

same period for raw materials; Half is purchased on account, 
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and half paid on account. This implies a cash outflows for 

$250. The other half will show on the Balance Sheet, under 

Accounts Payable (Current ,ÉÁÂÉÌÉÔÙȭÓ 3ÅÃÔÉÏÎɊȢ 3ÅÅ ÂÅÌÏ×ȡ 

 

 

 

 

 

In order for you to know how much cash the company 

generated, you will combine the information provided by the 

P&L and adjust it according to the Balance Sheet. In this 

regard, we could define the P&L as the father and BS as the 

mother. They give offspring to the Cash Flow. Therefore, 

through the understanding of Risk and Return cash is 

generated. It is important to grasp this concept, since it 

explains many things about the business world .   
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CHAPTER 6. THE BALANCE SHEET 
Ȱ5nless you are willing to put in the effort to learn accounting 

ɀ how to read and interpret financial statements ɀ you really 

ÓÈÏÕÌÄÎȭÔ ÓÅÌÅÃÔ ÓÔÏÃËÓ ÙÏÕÒÓÅÌÆȱ Warren  Buffet vii 

Indeed, as we saw in Chapter 4, the balance sheet is the other 

main financial statement used in financial accounting. The 

purpose of the balance sheet is to report the way the 

resources to run the operations of the business were 

acquired. The Balance Sheet helps us to assess the risk of the 

business. By looking at it you will be able to answer to 

questions, such as: What is the leverage? Is the company 

liquid enough? Remember, leverage means the proportion 

between equity and debt, while liquidity is the capacity of the 

business to repay for its short-term obligations, to run the 

operations. While we will answer to these questions in 

Chapter 8, in this chapter we will focus on why the balance 

sheet is important and how it works.  

Example:  Imagine you want to open a restaurant. The 

overhead costs, plus the costs of running the business are 

$200,000. There are two ways for you to find the money 

ÎÅÅÄÅÄ ÔÏ ÏÐÅÎ ÔÈÅ ÂÕÓÉÎÅÓÓȟ ÁÓÓÕÍÉÎÇ ÙÏÕ ÄÏÎȭÔ ÈÁÖÅ ÔÈÅ 

resources to do it your own. Either you find a partner that 

would put in personal money or you ask for a loan. 

Therefore, Equity and Debt are the two ways to finance your 

business. This is how a typical balance sheet looks like: 
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A SIMPLE EQUATION: ASSETS = LIABILITIES + EQUITY 
Before moving on, try to memorize this simple equation, 

always true: assets have to equal the liabilities plus equity.  

Example: Imagine you are starting a company, which 

manufactures biscuits. Beside the cost to run the operations, 

you need the machine to produce them. In total, for the 

machine you need $100,000. The purchase is financed: 80% 

through equity and 20% through debt. Even though this 

transaction is one step in the real world, it becomes three 

steps in the accounting world: 
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Step 1: Initially your balance sheet will show $80K under 

cash and equity, since remember that you will contribute 

80% of $100K to buy the machine. The transaction will look 

like the following: 

 

 

 

 

 

 

Step 2: Next, you will borrow $20K from the Bank as long-

term loan, since 20% will be financed with debt. You will 

show $100K under cash now ($80K + $20K). On the other 

side, you will show $80K under equity and $20K under 

liability. The transaction will look like the following:  
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Step 3: With the resources acquired you will buy the machine 

that will cost you $100K. The machine will show as a long-

term asset on the balance sheet. This asset, financed with 

$20K as a long-term liability and $80K as Equity. See below: 

 

 

 

 

 

 

 

 

Keep in mind these two principles: First, Assets always 

equals Liabilities + Equity. Second, what is a one step 

transaction in the real world becomes a three steps 

transaction in the accounting world. I am sure at this point 

ÙÏÕ ÁÒÅ ÔÈÉÎËÉÎÇ ÏÆ ÁÃÃÏÕÎÔÉÎÇ ÁÓ ÏÆ ȰÔÈÅ ÁÒÔ ÏÆ ÍÁËÉÎÇ easy 

things hard.ȱ Although, I can assure you that once you 

internalize the two principles above you will see the light. To 

develop an accountant mind-set you must always ask 

ÙÏÕÒÓÅÌÆ Ȱ7ÈÁÔ ÉÓ ÂÅÈÉÎÄ ÔÈÉÓ ÔÒÁÎÓÁÃÔÉÏÎȩȱ )ÎÄÅÅÄȟ ÉÎ ÔÏÄÁÙȭÓ 

world accounting software do not allow you to understand 

what is going on behind the scenes. Thereby, once you keep 

in mind the two principles above, transactions that before 

you did not understand will suddenly reveal to your eyes. At 

that point you will understand what I mean when I say that 

accounting is simple. Once you reach that enlightenment 
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level the whole financial world will unravel to your eyes. 

Suddenly, this deeper level of understanding will make you 

love the subject. You will no longer be like a car designer who 

does not know how the engine works. Therefore, each time 

the designer has to add a feature to the car skeleton he has to 

stop and ×ÁÉÔ ÆÏÒ ÔÈÅ ÅÎÇÉÎÅÅÒȭÓ approval. To be great in the 

financial world it is crucial to know the inside out of the 

accounting books. Like a physicist starts from the relativity 

theory formula: e = mc2, the accountant starts from the 

equation: Assets = Liabilities + Equity.  

In conclusion, the balance sheet is divided in two main parts. 

The first part is the one dedicated to Assets. Within it you 

will find two sub-sections:  

¶ Current Assets 

¶ Long-Term Assets.  

On the other hand, the second part is dedicated to liabilities 

and equity (sources of finance). Within that you will find two 

sub-sections: 

¶ Liabilities: Current and Non-Current or Long Term 

Liabilities  

¶ Equity 

 

In the following paragraphs I will explain the two parts 

separately and then you will see them all together. Before 

moving on give a look again at the balance sheet template 

shown at the beginning of the chapter and see if you notice 

any difference with the Income Statement.  

Well, if you looked careful enough you might have noticed 

ÔÈÁÔ ÔÈÅ ÄÁÔÅ ÏÆ ÔÈÅ "ÁÌÁÎÃÅ 3ÈÅÅÔ ÉÓ ȰÁÓ ÏÆ $ÅÃÅÍÂÅÒ σρȱȢ 
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Keep in mind the BS is a picture of the business, taken in our 

example on December 31st. Instead, the P&L is like a collage 

of pictures taken in the whole year.  

ASSETS: THE FUTURE OF THE BUSINESS 
The assets side of the Balance Sheet is divided within Current 

+ Non-Current (also called Long-Term Fixed Assets). The 

current Assets can be defined as the short-term resources of 

the business. Thereby, they are resources a company can 

have liquid in less than one accounting cycle. When an 

organization needs cash to operate the business, the first 

sources it will look at will be the current assets. The Non-

Current or Long-Term Fixed Assets are investments the 

company acquired with the intention to keep them on the 

books for long time. Of course, an organization can still sell 

or liquidate part of the long-term fixed assets to finance the 

business, but most of the time this does not happen. Imagine, 

for example, you need $100,000 to run the operations of 

your Pizza Store in the next few months. What are you going 

to do? Are you going to sell the equipment (Long-Term Fixed 

Asset) that allows you to make the great pizza that drives 

your sales? Or are you going to ask your customers to pay the 

outstanding balances (Accounts Receivable-Current Assets) 

they owe you? Well, if you are a person of common sense you 

will opt for the second alternative. Indeed, even if you opt for 

the first one, after selling the equipment that allows you to 

stay in business you will be bankrupt anyway. Instead, by 

having your customers pay for their outstanding balance, the 

organization will have enough resources to survive and more 

liquidi ty to thrive in the short-term. 
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The Assets part of the BS can be divided in:  

Current Assets: They are resources an organization has at its 

disposal and can be easily converted in cash or at least within 

one operating cycle. The current assets are typically 

presented from the most liquid to the least liquid.  

Non-Current or Long-Term Fixed Assets: They are resources, 

ÉÎÖÅÓÔÍÅÎÔÓ ÏÒ ÉÔÅÍÓ ËÅÐÔ ÏÎ ÃÏÍÐÁÎÙȭÓ ÂÁÌÁÎÃÅ ÓÈÅÅÔ ×ÉÔÈ Á 

long-term perspective. In some cases, the Non-Current Assets 

are simply long-term investments. In other cases they are 

functional to the business long-term operations, such as 

Plants and Equipment. In few cases yet, they are kept on 

ÃÏÍÐÁÎÙȭÓ ÂÏÏËÓ ÆÏÒ ÁÃÃÏÕÎÔÉÎÇ ÐÕÒÐÏÓÅÓȟ ÓÕÃÈ ÁÓ 'ÏÏÄ×ÉÌÌȢ 

 

At times you may get confused and unsure about the 

difference between the two. Therefore, ask yourself two 

basic questions:  

What is the Time Frame? Will they be subjected to significant 

changes in value? 

If the answers are: Long-Term (more then one year) and Yes, 

in the majority of the cases you can be certain to define them 

as Non-Current Assets. 

If instead, your answers are Short-Term (within one year) 

ÁÎÄ .Ïȟ ÉÎ ÔÈÅ ÍÁÊÏÒÉÔÙ ÏÆ ÔÈÅ ÃÁÓÅÓ ÔÈÅÙȭÌÌ ÂÅ ÄÅÆÉÎÅÄ ÁÓ 

Current Assets.  
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CURRENT ASSETS 
Cash and Cash Equivalents: The former includes cash in hand 

and deposits that can be easily withdrawn. The latter 

includes short-term highly liquid investments that can be 

easily liquidated (Converted in cash). Cash Equivalents and 

Long-Term Investments have two main differences. First the 

time frame, of course an investment to hold for few years will 

be not as liquid as a short-term one.  On the other hand, the 

change in value is crucial as well. In fact, Cash Equivalents 

are usually subject to insignificant changes in value. Instead, 

Long-Term Investment, reported under Non-Current Assets, 

can report significant change in value.   

 

Accounts Receivable (AR): They include the amount of money 

to be received by customers. According to the matching 

principle (Chapter 1), revenue is reported as soon as 

realizable. Therefore, the customer did not pay yet for the 

service already rendered, the money owed will be shown 

under Accounts Receivable, with heading of Current Assets. 

The AR can be one of the most difficult accounts on the BS 

when it comes to quantifying it. Indeed, at times is very 

complicated to determine the amount of receivable that can 

be collected.  

 

Example: Imagine you sell raw materials to companies that 

produce peanut butter. Your customers are companies who 

have large operations and for such reasons they pay within 

90 days from receiving the raw materials. One of your main 

customers owes you $100K. Its business though is in distress 

and in few months may be bankrupt. How would you know 

which percentage of the $100K can be collected? Truth is you 

×ÏÎȭt know until the company will be liquidated and assets 
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sold. Imagine you are able to collect 30% of the outstanding 

$100K. Overall you recovered $30K. What about the 

remaining $70K? Well, this will become bad debt. Therefore, 

you will decrease the AR by 70K and expense this amount as 

Bad Debt. In conclusion, you understand that AR can be 

tricky. In few cases the number you see on the BS can be 

misleading.  

 

Inventories: They can be trickier than the AR when you have 

to quantify them. Indeed, they are the list of goods a 

company has on hand to be sold. This definition although is 

not always true. Imagine the scenario in which you have a 

company who sells smartphones; nonetheless the production 

is outsourced. Therefore, your inventories will be mainly 

comprised of finished product. Imagine the opposite 

scenario. Your company actually manufactures the 

smartphones. Therefore, the inventories will be comprised of 

finished product (smartphones), on one hand, and 

components on the other hand. As you can imagine the value 

of the inventories from the first to the second scenario will 

be slightly different. Inventories will be valued according to 

ÔÈÅ ȰÎÅÔ ÒÅÁÌÉÚÁÂÌÅ ÖÁÌÕÅȱ ÏÒ ÔÈÅ ÁÍÏÕÎÔ ÆÏÒ ×ÈÉÃÈ ÔÈÅ ÇÏÏÄÓ 

can be sold for after subtracting the expenses incurred to 

make the sales. As we saw from the example above, if you 

own a company who manufactures smartphones, the 

inventories will be comprised of three kinds of goods that 

can be valued accordingly: 

 

¶ Raw materials. Typically they include materials that 

have different values.  

Example: Imagine your inventory is comprised of 

phone screens. With technology progress the price of 

some components decreases. Therefore, your 
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inventory is comprised of phone screens batches 

bought one year ago up to three months ago. Further, 

the batches acquired one year ago are valued at $10 

per piece while the newly acquired are valued at $8 

per piece. Two methodologies can be used in this 

case: either the FIFO or the weighted average price. 

The former means First in, First out. Practically the 

Inventory will be valued at the price of the latest 

goods received, in our example $8 per unit. In the 

latter the price of the goods will be averaged out. For 

example, the two batches comprise the same number 

of items, or 50 items at $10 in the first batch and 50 

items at $8 in the second batch. Therefore, the 

weighted average formula will be: ((50 x $8)+(50 x 

$10))/100 = $9 per unit. In conclusion, according to 

FIFO the value of your inventory will be $800 or $8 x 

100 while according to the weighed average will be 

$900 or ((50 x $8)+(50 x $10)) x 100).  

 

¶ Work in progress. In the real world these items 

may be considered worthless. Imagine your 

inventories are comprised of not fully assembled 

smartphones, either because the screen is missing or 

the CPU has not been completed yet. How would you 

value them from the accounting perspective? Well, do 

you remember what does the going concern principle 

state? (Chapter 1). According to this principle 

accountants assume the business will continue the 

operations in the foreseeable future. Therefore, in 

our example the smartphone not fully assembled will 

be valued more in comparison to the raw materials, 

since the assumption is that the business will 

continue the operations long enough to eventually 
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sell the finished product. Furthermore, the value of 

the work in progress stock will include things such as 

the labor costs incurred in the manufacturing 

process. In conclusion, they will have a higher value, 

although very subjectively determined.  

¶ Finished goods. They are the most valuable items 

of all the inventories. Finished goods can be valued at 

the net realizable value.  

 

Pre-paid Expenses: ,ÅÔȭÓ ÄÅÆÉÎÅ ÔÈÅÍ ÔÈÒÏÕÇÈ ÁÎ ÅØÁÍÐÌÅȡ 

Imagine you own a real estate company. Furthermore, the 

company bought a 10-story apartment complex. In order for 

your apartments to be rented of course you have to set up 

water, trash, gas and electrical accounts. The Utilities 

Company will ask for a Deposit to set up the accounts. This 

deposit amount after few months will be credited to your 

utilities. Therefore, the money paid in advance now will 

serve you as a credit. This will add short-term liquidity  to the 

business since you already paid for the next few months and 

you will not need to pay anymore.   

In Chapter 8, I will show you some useful ratios to assess the 

liquidity of the business. 

NON-CURRENT OR LONG-TERM FIXED ASSETS 
The objective of this paragraph is to show you the 

classification of Non-Current Assets in few, simple steps. 

Eventually, you will be able to have a mental image of how 

they work. I will show you: 

Step 1: Difference between OPEX vs. CAPEX. 

Step 2: Difference between Tangible and Intangible Assets.  

Step 3: Depreciation & Amortization.  
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Step 1: OPEX vs. CAPEX.                                                                      

They are the acronyms for Operating Expenditure and 

Capital Expenditure. For example, imagine you own a real 

estate firm. The firm bought an apartment complex with few 

units. In order for you to rent the apartments you have to 

clean and furnish them. The former activity implies that you 

call the maid, pay him/her $100 to have the apartment 

cleaned. The latter activity instead implies buying things, 

such as: couches, kitchen stoves, beds and so on. They will 

cost you thousands of dollars but will last for few years. The 

Operating Expense is money spent on the day-to-day 

operations of the business. The Capital Expenditure, instead, 

is money invested in the business with a long-term 

perspective. 

Stop for a second and think. Is the cleaning service OPEX or 

CAPEX?  

The $100 paid to the maid is OPEX. The money spent on 

furnishing the apartment, instead, will be defined as CAPEX. 

What helps to discriminate between the two are actually 

three factors: 

¶ Useful Life (More than one accounting cycle) 

¶ Amount Spent (Over $2,500) 

¶ Future Benefits (Will generate revenue) 

Indeed, in the first scenario the maid cleaning expense will 

have a useful life of few weeks. Furthermore, it is worth less 

than $2,500 and it wonȭt produce any future benefits. On the 

other hand, couches and kitchen stoves will have a useful life 

of few years. Further, whey will be worth over $2,500 and it 

will produce future benefits. Of course, there are few 

exceptions.  
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Example: Imagine, the apartment complex your company 

bought needs to be repainted. Therefore, the painting work is 

comprised of: material (Paint) for $500 and labor (Painter)  

for $5,000. The painter work meets all the criteria above; 

thereby it is a Capital Expenditure. What about the material 

(paint) ? The paint does not meet all the three CAPEX 

requirements. Although, it can have a useful life of more than 

one accounting cycle, in our specific case it is not worth more 

than $2,500. Indeed, there is no way the painter would be 

able to finalize the work without paint. Therefore, we will 

consider the paint as part of the overall work. Thereby, the 

paint, and the labor will be both considered CAPEX. Why is 

this difference between operating and capital expenditure 

crucial?  

In reporting terms the operating expense will be stated on 

the Income Statement (Expense Section), the Capital 

Expenditure instead will be stated on the Balance Sheet 

(Non-Current Assets Section).  

Why is Capital expenditure stated on the Balance Sheet? 

Due to the fact it will be capitalized. What does it mean? Let 

me give you a further example. Imagine you bought $20,000 

worth of furnishing. Assuming that the useful life of the items 

is ten years. If you were to report the $20K furniture as an 

expense in the first year your profits would be completely 

eroded due to the fact that you should report a $20K expense 

under your income statement. Instead, since this is a capital 

expenditure it needs to be spread along its useful life. In the 

specific example: ten years. Thereby, you will report a 

depreciation expense of $2,000 on your income statement 

and concurrently decrease the asset value for $2,000 on your 

balance sheet. See example below: 
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Step 2: The difference between Tangible and Intangible Assets. 

The former are things with a physical entity, while the latter 

do not have a physical entity. Imagine you own an IT 

corporation. What do you need to operate the business? Of 

course, you need the office, computers and office supplies. 

Assuming the corporation produces accounting software. 

How is your organization generating revenue? Through 

licensing the software. Therefore, it is crucial to make sure 

no one will clone it .  

How can you avoid the cloning? Through patenting the 

software. In this example, the patent is an Intangible Asset. 

The remaining assets: Office building, computers and 

supplies are Tangible Assets.  

Why is this difference important?  

Step 3: Depreciation & Amortization (D&A).                                     

In the previous example, the IT Corporation needs computers 

to operate. Assuming 10 computers were bought for $2,000 

each, the total Capital Expenditure would be $20K. 

Furthermoreȟ ÔÈÅÙ ×ÏÎȭÔ last forever. Assuming a useful life 

of five years we have to figure out: What is the depreciation 

and How to record the transaction. 
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First, depreciation is the decreasing value of the asset on a 

yearly basis. Second, the formula to compute the 

depreciation rate is: (Asset Cost ɀ Residual Value) / Useful 

Life. ,ÅÔȭÓ solve the previous example: the asset cost of 

$20,000 minus the residual value of $2,000. Divide the result 

by 5.  

This is the formula: ($20K Cost - $2k Residual Value) / 5 

years Useful Life) =  $18K / 5 = $3,600 per year. In 

conclusion, your schedule will look like the following: 

Assuming the computers were bought at the beginning of 

Year 1, at the end of the year their value would decrease by 

$3,600 at $16,400. Up to Year 5, when the residual value will 

be $2,000.  

 

 

This method is called straigh-line depreciation. Although 

there are several depreciation methodologies, the straight-

line is the most commonly usedviii . 

 

Why do we need to depreciate? As we saw in step 1, it would 

be unfair to report the whole asset cost under the Income 

Statement since it would completely erode the Net Income. It 

is correct instead to spread the value of the asset over the 

useful life.  
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Amortization follows th e same process of Depreciation. Keep 

in mind: the tangible assets are depreciated; the intangible 

assets are amortized. If we go back to the example made a 

while ago, the IT corporation has at its disposal: tangible 

assets, such as computers and intangible assets, such as 

patents. Therefore, the former will be subject to depreciation, 

the latter to amortization.  

Amortization and Depreciation are linked to ordinary events 

of the assets lives. When, instead, an asset loses value 

unexpectedly, it will be subject to impairment. Imagine your 

real estate company bought a building for $10 million, with a 

useful life of 5 years. At the end of year two due to an earth 

quick the building is badly damaged. Suddenly the fair 

market value drops to $5 million. The company decides to 

sell the building.  

How do we estimate the impairment? First, we have to 

estimate the carrying value of the Building. This is the Cost of 

the asset minus its accumulated depreciation = $6 million, or 

$10 million minus $4 million (10 million/5 years = 2 million 

x 2 years).  The book value of the building at year two is $6 

million and the recoverable amount is $5 million, therefore 

the impairment amount is $1 million. The following journal 

entry will be recorded on our balance sheet and income 

statement: 
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The impairment loss will be reported under the P&L as an 

expense and the accumulated impairment on the BS will 

decrease the value of the building.  

 

Imagine the opposite scenario. The building increased in fair 

value instead. At the end of year one, the building is worth $9 

million.  Given the carrying value of the building of $8 million, 

it revalued by $1 million. We have to record the revaluation 

on our books: 

                                                                            
The revaluation will increase the value of the building on the 

BS and determine a surplus/gain on our P&L.  
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LIABILITIES: TOO MUCH OF IT CAN GET YOU IN 

TROUBLE 
The liability is an obligation or debt that an organization 

owes to third parties. On one hand, an organization to 

operate needs resources such as raw materials in the short-

term or capital in the long-term. When the ratio between 

liabilities on the balance sheet is too high compared to 

equity, the company is highly leveraged; therefore, more 

risky. Why is it so? A business can acquire resources through 

Equity (Its own resources) or Liability (Debt). Equity holders 

are also called shareholders, and they own part of the 

organization. In contrast, debt holders are called creditors, 

and they do not own any part of the organization.  

Being a shareholder is advantageous since they get part of 

the returns generated by the organization. On the other hand, 

it is a riskier investment, since shareholders are not entitled 

to ask for repayment of the capital invested and need to 

cover the losses incurred by the organization.  

Being a creditor means not having any of the returns 

generated by the business, nonetheless creditors get a fixed 

amount called interest. On the other hand, if the organization 

declares bankruptcy, the creditors will be the first entitled to 

repayment. Therefore, creditors can ask for their money 

back. Furthermore, creditors have Ȱthe ÃÁÌÌ ÔÏ ÁÃÔÉÏÎȠȱ ÉÎ 

other words, they can ask to be paid back. Imagine the 

scenario in which all your creditors ask to be paid back.  

What would happen to your business? It wi ll be Bankrupted. 

Unless you will find enough cash to pay the creditors back.  

How does an organization generate cash? Through its Assets.  
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In conclusion a business with higher portion of debt 

compared to equity is highly leveraged and therefore riskier 

because its creditors can ask for repayment at any time.   

There are several creditors for any organization. In most of 

ÔÈÅ ÃÁÓÅÓ ÃÏÍÐÁÎÉÅÓ ÄÏÎȭÔ ÐÁÙ ÒÉÇÈÔ Á×ÁÙ ÆÏÒ ÔÈÅ Òaw 

materials bought. Indeed, the suppliers may give your 

organization 60/90 days to pay. This generates a liability for 

the company. Therefore the suppliers can be defined as 

short-term creditors. 

Consider a second scenario instead. The organization needs 

$100K to acquire a machine that will drive revenue up in the 

years to come. To finance the purchase of the machine, a loan 

is contracted through the Bank. The bank approves the 

company for a loan to be repaid in ten years. Therefore the 

Bank will become your creditor. In conclusion there are two 

kinds of liabilities: 

Current Liabilities 

They are short-term obligations owed by the organization. 

They comprise: 

¶ Accounts Payable (AP): money owed to suppliers for 

goods and services used in day-to-day operations. 

¶ Short-Term Loans and Overdraft. The former can be 

recalled in the short-term (less than one year), while 

the latter can be recalled anytime. 

¶ Accrued Expenses. They are the opposite of advanced 

payments. Indeed, accrued expenses are bills not yet 

paid; even though service, was already rendered by 

suppliers.  
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¶ Long-Term Liabilities. Obligations/Debt to be paid 

back in the long-term. A mortgage can be considered 

a long-term liability.  

Up to this point we covered the part of the balance sheet 

related to Assets. To wrap up: Assets are comprised of 

Current and Non-Current Assets. Furthermore, Non-Current 

Assets are classified as tangible or intangible. Liabilities, 

instead, are comprised of Current and Long-Term Liabilities. 

In addition, the equation that drives the BS is: Assets = 

Liabilities + Equity. Therefore Equity = Assets ɀ Liabilities.  

EQUITY: STRIKE THE RIGHT BALANCE 
While the debt does not give any share or ownership in the 

business, the equity does. Indeed, equity is the capital to start 

a venture generating satisfying returns. What can we define 

as a satisfying or acceptable rate of return? This is hard to 

assess, since it depends by several variables such as: 

industry, size, geography and so on. In addition, there are 

several methodologies to assess the rate of return of an 

organization, such as: Net Present Value, Internal Rate of 

Return. In addition, we have other metrics, such as: ROE, 

ROA and so on. In Chapter 8, we will see some of the metrics 

that can help you to assess the profitability of a business. 

,ÅÔȭÓ Æocus in this paragraph on the source of capital, equity 

and debt. You may be tempted to think that equity is always 

good for an organization, and the more the better. On one 

hand, we saw in the previous paragraph, too much debt in 

proportion to equity can kill the business. In fact, creditors 

may recall their obligations and this would lead to 

bankruptcy.  

On the other hand, too much equity may be very limiting for 

a business, although this is not always the case. The capital 
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structure, or how a firm finances its operations and growth 

by using different sources of funds is crucial. Therefore, a 

successful organization must be able to use an optimal 

capital structure, so that debt-equity ratio would maximize 

the value for its business. For example, in the early 1990s, 

the private equity industry boomed, due to favorable 

macroeconomic condition. A disproportionate number of 

firms with  low debt-to-equity ratio formed. In this decade, 

Ȱ,"/Óȱ ×ÅÒÅ ÖÅÒÙ ÃÏÍÍÏÎȢ The Leveraged buy out is a 

financial tool that allows private equity firms to acquire or 

take over organizations, with very minimal amount of equity. 

Therefore, the perfect targets for private equity firms are 

listed organizations with far from optimal capital structures, 

for such reason, undervalued. When private equity firms 

smell such deals, this becomeÓ Á ÇÒÅÁÔ ÏÐÐÏÒÔÕÎÉÔÙ ÔÏ ȰÓÈÏÐȢȱ 

Further, they borrow money and acquire the firm by 

pumping up debt and using future cash flows to repay for the 

contracted obligations. Of course, such increase in debt 

makes the business riskier, unless it generates enough cash 

flows to sustain its operations and pay its debt. Therefore, 

cutting costs and making operations as efficient as possible 

becomes the motto of the organization. After few years the 

private equity firm s resell the business by making a great 

return on their  investment. In conclusion, having more 

equity in proportion to debt is a good thing. On the other 

hand, having too much equity (or operating far from the 

optimal capital structure), determines undervaluation, 

therefore vulnerability  to hostile take-oversix . The last 

section of the balance sheet is dedicated to equity that is 

composed by: 
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Stocks  

¶ Common Stocks: Issued by an organization it  helps to 

finance the business. Who holds common stocks can 

profit in two ways: Capital Gain, when the value of 

the stock increases; Paid dividend, when 

management decides to distribute it.   

¶ Preferred Stocks: Preferred shareholders get paid 

first and usually in a fixed amount. In many 

circumstances they do not have voting rights. 

 

Retained profit 

Portion of profits retained in the business, instead of being 

distributed as dividends.  

 

¶ Reserves. 

¶ Shareholders equity: Total invested capital in the 

company. 

 

BALANCING THE BOOKS 
At the beginning of the Chapter we saw that the equation 

Assets = Liabilities + Equity governs the balance sheet. 

Therefore, it will always be true. When you build your own 

balance sheet you want to make sure the first sections 

reconciles with the second.  

Example: Imagine you own a Pizza Shop. At the beginning of 

the year it shows total assets for $250K, of which $100K in 

total liability and $150K in total Equity. During the year it 

sold $100K of pizzas and it generated $20K of profits. You 

decide to retain the earnings instead of distributing the 

dividends.  



 60 

How does your balance sheet look like at the end of the year?  

First, you have to move the earnings generated throughout 

the year from your income statement to your balance sheet. 

Therefore: 

 

Eventually the balance sheet will show total assets for $270K 

of which $100K in total liability and $170K in total equity: 

 

When your assets increase, accordingly either your liability 

or equity will  concomitantly increase.            

 

 

 

 

 

 

 

 

 



 61 

CHAPTER 7. THE CASH FLOW 

STATEMENT 
ȰThe fact is that one of the earliest lessons I learned in business 

was that balance sheet and income statements are fiction, cash 

flow is realityȱ Chris Chocola (Credit: BrainyQuote) 

The cash flow statement is the third main statement. 

Together with P&L and BS, helps to assess the health of any 

organization. As we saw in the previous chapter, the Profit 

and Loss focuses on return while the BS on risk. The cash 

flow statement focuses on cash. There are two methods to 

present the cash flow: direct and indirect. In this chapter we 

will focus on the latter, since it is the most commonly used. In 

addition, it allows the reconciliation of the Net Income with 

the cash provided by operations, investments and financing 

activities. To build a CFS with the indirect method, we start 

from the Net Profit (P&L), adjust it according to the BS. You 

will see in the cash flow from operations the reason why we 

start from net profit. For now let me tell you the story of a 

friend of mine: James.  

CASH IS KING 
This is true in life but particularly true in business. Keep in 

mind that there are three main activities, which generate 

cash: operating, financing and investing. Let me tell you the 

story of a friend of mine, we will call him Ȱ*ÁÍÅÓ.ȱ He used to 

run a successful restaurant. Indeed, he was in business for 

over ten years now. Every night he had hundreds of 

customers and everyone knew him in town. He was named 

restaurateur of the year. The future seemed so bright. In fact, 

he believed that having popular customers made his business 

grow faster or at least made it more popular. Therefore, half 

http://www.brainyquote.com/quotes/authors/c/chris_chocola.html
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of his clientele was comprised of popular people in town. 

Many of them went to his restaurant and after bringing other 

people along, James allowed them to do so. He allowed to 

other prestigious customers to open credit accounts called 

Ȱ6)0 !ÃÃÏÕÎÔÓȢȱ Therefore, they could come at any time and 

pay whenever they were able to.  Initially, this seemed to 

work. More regular customers came in and his profits 

skyrocketed. Although, business had never been so good, he 

was short of cash. Furthermore, salaries for half of the staff 

were not paid. The staff loved James and they were willing to 

stay few weeks more without getting paid but they expected 

him to pay within thr ee weeks. Taken aback he went to the 

bank and asked for a Loan. Once there, the director of the 

bank, a long time friend of him wanted to help him but he 

ÃÏÕÌÄÎȭÔȢ Even though the business looked successful from 

the outside, it was bleeding from the inside. Cash was short; 

nonetheless the restaurant produced $50K in profits, there 

was a $20K hole due to unpaid balances by customers. In 

fact, the account receivable showed over $200K due, 75% of 

it were over two years old balance. The bank director told 

James if he wanted to borrow money he had to improve the 

cash situation. Therefore, he turned to his managers and 

asked them to use any methods to collect the money lumped 

as accounts receivable. The AR skyrocketed in the last two 

years mÁÉÎÌÙ ÄÕÅ ÔÏ ÔÈÅ Ȱ6)0 ÁÃÃÏÕÎÔÓȢȱ Lately the restaurant 

managers were trying to collect the balances from the 

customers and in some cases by threatening them. The VIP 

accounts holders felt offended. Therefore, they decided to 

ÁÖÏÉÄ *ÁÍÅÓȭ ÒÅÓÔÁÕÒÁÎÔ ÁÎÄ ÎÏÔ ÔÏ ÐÁÙ ÔÈeir balances. Their 

understanding was that James offered them food in exchange 

for marketing services. Not only James lost the chance to 

collect the money lumped in the AR, but half of the clientele 

was gone. Further, his employees decided to leave. James did 
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not see any other solution that closing the business and 

declaring bankruptcy. The hole went from $20K to over 

$200K! 

What seemed to be a successful venture and what seemed to 

be a small cash issue, turned out to be bankrupt. This was 

mainly due to poor cash management.  

THE THREE MAIN SOURCES OF CASH 
7ÈÁÔ ÁÒÅ ÔÈÅ ÍÁÉÎ ÓÏÕÒÃÅÓ ÏÆ ÃÁÓÈ ÆÏÒ Á ÂÕÓÉÎÅÓÓȩ ,ÅÔȭÓ ÇÏ 

ÂÁÃË ÔÏ *ÁÍÅÓȭ ÓÔÏÒÙȢ )ÎÉÔÉÁÌÌÙȟ ÈÅ ÈÁÄ Á ÈÏÌÅ ÏÆ Αςπ+ ÄÕÅ ÔÏ 

the fact that its restaurant operations were not generating 

enough cash. Therefore, he went to the bank to find cash to 

finance the business but he was turned down. Eventually, 

what killed the business was a total lack of investments in 

long-term assets, since James spent hundreds of thousands of 

dollars in marketing, with no focus whatsoever on employees 

or new equipment. This is how a CFS would look like: 
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As shown in the picture above, the first section is related to 

operations, then investing activities, eventually financing 

activities. Before moving on to the cash flow from operations 

let me clarify one thing. Indeed, if you look at the CFS picture, 

ÙÏÕ ×ÉÌÌ ÎÏÔÉÃÅ Á ÓÍÁÌÌ ÓÉÇÎ Ȱɝȱ ÃÁÌÌÅÄ $ÅÌÔÁȢ 4ÈÉÓ ÉÓ ÔÈÅ ÆÏÕÒÔÈ 

letter of the ancient Greek alphabet. In our particular case ɝ 

means change or incremental value. Indeed, the P&L and BS 

items are reported in absolute values. For example, if you 

look at the P&L, the reported revenue will refer to the entire 

year. Instead, in the cash flow statement each item is 

considered from an incremental value standpoint. If you 

report the accounts receivable, you will take the difference 

between the current-year, over the previous year. For 

example, in Year Two, you have $100 of AR while in Year One 

you had $50. This implies that your AR grew of $50 from 

Year One to Year Two. So the delta is the difference between 

Year Two and Year One, or $50. But what happened from the 

cash standpoint? Let me explain in the next paragraph.  

CASH INFLOW VERSUS CASH OUTFLOW  
In order for you to fully understand the cash flow statement 

you have to change perspective. Indeed, so far we looked at 

the P&L and BS through the accrual basis lenses. It is time 

now to shift your perspective to the cash basis. What does it 

meanȩ 7ÅÌÌȟ ÌÅÔȭÓ look again at the example, from the 

previous paragraph. Our accounts receivable went from $50 

in Year One to $100 in Year Two. From the accrual 

standpoint, it means an increase in asset. But what if we 

change perspective and we look at it from the cash 

standpoint? Well, from the cash standpoint means a cash 

outflow! What? Why? The reason is simple. The purpose of 
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the CFS is to look at cash inflows and outflows for a certain 

time frame with no regard to profits generated. In fact, in the 

next paragraph I will show you why the net profit is a liar. 

For now, keep in mind that an Asset increase means a cash 

outflow, while an Asset decrease means a cash inflow. 

Instead, a Liability increase means a cash inflow, while a 

Liability decrease a cash outflow. The Cash Flow matrix 

below will help you remember this basic assumption: 

From the previous example, the increase in asset (AR) from 

Year-Two to Year-One determined a cash outflow of $50. See 

below: 

 

 

 

 

To recapitulate we saw that the cash flow statement takes 

ÉÎÔÏ ÁÃÃÏÕÎÔ ÔÈÅ ÉÎÃÒÅÍÅÎÔÁÌ ÖÁÌÕÅÓȟ ÃÁÌÌÅÄ Ȱɝȱ ɉ$ÅÌÔÁɊ and 

that from the cash standpoint an increase in assets 

determine a cash outflow, and vice-versa, while an increase 

in liabilities determine a cash inflow, and vice-versa.  

Why is the Net Profit a liar? 
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THE NET PROFIT IS A LIAR  
,ÅÔȭÓ ÔÁËÅ Á ÓÔÅÐ ÂÁÃË ÔÏ *ÁÍÅÓȭ ÓÔÏÒÙȢ !ÌÔÈÏÕÇÈ ÈÅ ÇÅÎÅÒÁÔÅÄ 

$50K in net profits, he had a $20K cash hole. How is that 

ÐÏÓÓÉÂÌÅȩ 3ÈÏÕÌÄÎȭÔ ÎÅÔ ÐÒÏÆÉÔ ÔÅÌÌ ÕÓ ×ÈÅÔÈÅÒ Á ÂÕÓÉÎÅÓÓ ÉÓ 

sucÃÅÓÓÆÕÌȩ 5ÎÆÏÒÔÕÎÁÔÅÌÙ ÉÔ ÄÏÅÓÎȭÔ ÁÎÄ ÉÔ ÉÓ ÁÃÔÕÁÌÌÙ ÐÏÓÓÉÂÌÅ 

to see organizations with positive net income, eventually 

going bankrupt because of lack of short-term liquidity . James 

had a small business and he knew how to look at the Income 

Statement but none taught him how to manage the cash or 

read a CFS.  The net profit of course is a measure of 

profitability, but what does profitability mean? An 

organization is profitable when its revenues cover its total 

expenses, as we saw in chapter 5.  Does revenue or expense 

ÍÅÁÎ ÃÁÓÈ ÒÅÃÅÉÖÅÄ ÏÒ ÄÉÓÂÕÒÓÅÄȩ .Ïȟ ÉÔ ÄÏÅÓÎȭÔȢ )Î chapter 5, 

we saw that according to the matching principle, the revenue 

and expense are recognized as soon as realizable, and not 

realized. What is the difference between realizable and 

realized?  The latter means that a product or service is 

offered in exchange for cash. The former, instead, means that 

products are delivered and services performed. Therefore, 

the net profit does not give any information about cash. 

Indeed, the purpose of the CFS in general is to adjust the Net 

Income, to reflect all cash inflows and outflows happened for 

a certain period.  
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CASH FLOW FROM OPERATIONS: ARE WE EFFICIENT? 
In this paragraph we will see how to build a cash flow from 

operations, using the P&L and Balance Sheet. The main 

purpose of this statement is to take off from the net income 

the non-cash items included in it and all the cash inflows and 

ÏÕÔÆÌÏ×Ó ÔÈÁÔ ÈÁÐÐÅÎÅÄ ÉÎ Á ÃÅÒÔÁÉÎ ÐÅÒÉÏÄȢ ,ÅÔȭÓ ÌÏÏË ÁÔ ÔÈÅ 

image below: 

 

 

 

 

 

 

The net income is the starting point. Why do we start from 

the Net Income? Let me clarify again. The Net Income is given 

by Revenue ɀ Expense. When revenues or expenses are 

generated, it does not mean cash was generated. By going 

ÂÁÃË ÔÏ *ÁÍÅÓȭ ÒÅÓÔÁÕÒÁÎÔ example, a profit of $50K for the 

year generated a hole of $20K. Why? Well, in the specific 

case, most of the income reported as revenue was comprised 

of receivables, which were not collected for over two years. 

Therefore, the purpose of the cash flow is to clean the net 

income from all these non-cash items and non-cash 

expenditure comprised in it. Let me show you now the three 

simple steps to build your cash flow from operations: 
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Step 1: Find the non-cash items: In fact, they did not 

contribute any cash inflow or outflow. Therefore, before we 

ÃÌÅÁÎ ÔÈÅ ÎÅÔ ÉÎÃÏÍÅ ÆÒÏÍ ÔÈÅÓÅ ÉÔÅÍÓȟ ÌÅÔȭÓ ÆÉÎÄ ÔÈÅÍȡ  

 

¶ Depreciation & Amortization expense: The former is 

the recorded decline in value of assets. The latter is 

the distribution of cost for intangible assets. On one 

hand, they were reported as expenses in the P&L and 

they affected negatively the NI. Indeed, the 

Depreciation expense allows businesses to reduce 

their Profit Before Tax and by doing so, reducing 

their taxable income. On the other hand, the 

depreciation expense did not determine any cash 

outflow. Thereby D&A need to be added back to the 

NI. 

¶ Impairment: When an asset loses value significantly 

and abruptly, we have impairment . It happens when 

the carrying amount exceeds the recoverable 

amount. Although, it affects the Net Income 

negatively, since it will be reported as expense, under 

the P&L, it does not imply any cash outflow. 

Therefore, it needs to be added back to the NI.  

¶ Profit/Loss on sale of non-current assets: When a non-

current asset is sold, the profit/loss generated is 

recognized under the P&L and it will affect the net 

income. However, at this stage is too early to 

recognize the sale of the non-current asset, since this 

will be taken into account in the cash flow from 

investments. Therefore, to avoid any double counting 

this item will be subtracted in the OCF and added 

back in the Cash flow from investing.  
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¶ Increase/Decrease in inventory, receivable and 

payables: These three items taken into account 

ÁÌÔÏÇÅÔÈÅÒ ÆÏÒÍ ÔÈÅ Ȱ×ÏÒËÉÎÇ ÃÁÐÉÔÁÌȱȢ $ÅÆÉÎÅÄ ÁÓ the 

resources an organization has at its disposal used to 

sustain the operations in the short-term; the formula 

for the Working capital is given by: Current Assets ɀ 

Current Liabilities. In the cash flow statement though 

we take into account the ɝ in worki ng capital or 

change in working capital. This means the 

incremental value reported as result of the 

Incremental Inventory + Incremental Receivable + 

Incremental Payable.   

 

Step 2: Take the Net Income and add back all non-cash items.  

How these items affect the cash? Let me give you an example 

on each item. Imagine, your restaurant business reported a 

net income at the end of Year-Two for $300,000, let us see 

how to adjust the net income to get the cash flow from 

operations:  

¶ Depreciation effect on cash: At the beginning of Year-

One you bought the kitchen equipment. The whole 

cost was $100,000 and it will have a useful life of ten 

years and a residual value of $5,000. The 

depreciation expense in Year-Two is $9,500 or 

($100,000 - $5,000)/10. Therefore, at the end of 

Year-Two an expense for $9,500 will be included as 

Depreciation expense in the P&L. We have to add it 

back for two main reasons: First the depreciation 

expense implies no cash outflow. Second, we will take 

into account the change in non-current assets 

through the cash flow from investments. In 
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conclusion, we take the $300,000 earnings for Year-

Two and add back $9,500 of depreciation expense 

(non-cash expense) = $309,500.  

¶ Profit/loss on sale of non-ÃÕÒÒÅÎÔ ÁÓÓÅÔÓȭ ÅÆÆÅÃÔ ÏÎ ÃÁÓÈȡ 

In Year-One you bought a machine to produce fresh 

pasta. You paid $3,000 for the machine and the 

estimated useful life is three years with no residual 

value at the end. The depreciation rate is $1,000 or 

$3,000/3.  In Year-Two the machine is reported as 

worth $2,000 on your BS, since you depreciated it by 

1/3 or $1,000. You eventually sell it for $2,500. It 

means a profit of $500 ($2,500, selling price - $2,000 

asset value per BS). The profit from the sale, $500 is 

included already in the NI in Year-Two. We have to 

take them out for two reasons. First, although there is 

Á ÐÒÏÆÉÔ ÏÆ Αυππȟ ÔÈÉÓ ÉÓ ÊÕÓÔ Á ȰÐÁÐÅÒ ÐÒÏÆÉÔȱ ɉ)Î ÔÈÅ 

real world the machine was bought for $3,000 and 

sold for $2,500). Second, the Profit/Loss coming from 

the sale of non-current assets will be taken into 

account in the Cash flow from investment. Therefore, 

to avoid any double counting it is crucial to take it out 

from the OCF. Going back to the example, recall in the 

previous bullet point we added back the depreciation 

expense from the NI and we had $309,500. 

&ÕÒÔÈÅÒÍÏÒÅȟ ,ÅÔȭÓ ÔÁËÅ ÏÆÆ ÔÈÅ ȰÐÁÐÅÒ ÐÒÏÆÉÔȱ 

generated by the machine sales. Therefore, $309,500 

-  $500 = $309,000. 

¶ Net Working Capital effect on cash: As we said in step 

1, the net working capital is given by: Incremental AR 

+ Incremental Inventory + IÎÃÒÅÍÅÎÔÁÌ 0ÁÙÁÂÌÅȢ ,ÅÔȭÓ 

assume in Year-One you had $500,000 in AR, 

$240,000 in Inventory and $300,000 in AP. In Year-

Two, instead, you have respectively $550,000, 
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$200,000, and $350,000.  See below how to translate 

the net working capital from the balance sheet to the 

OCF: 

 

 

 

Notice, the increase in AR from Year-One to Year-Two 

determined a decrease in cash.  A decrease in 

Inventory determined an increase in cash and an 

increase in AP determined an increase in cash. 

Therefore, the Net working capital is $40,000, that 

adds up to $309,000. Eventually, we get $349,000. 

 

Although, the NI for Year-Two was $300,000 the Net OCF 

was $349,000.   

CASH FLOW FROM INVESTING: ARE WE KILLING THE 

GOOSE? 
In this section are shown the cash inflows/outflows related 

to non-current assets, such as property, plant and equipment. 

The non-current assets are the ones that generate future 

benefits for the organization. Therefore, they are considered 

as investments. In Chapter 6, we saw the difference between 

CAPEX and OPEX. Indeed, all the money spent on acquiring 

things that will have a useful life over one year at least, worth 
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more than $2,500 and that will bring future benefits to the 

organization can be defined as CAPEX. In this category are 

included all non-current assets under the balance sheet, such 

as: property, plant and equipment. In the previous 

paragraph, we saw that to avoid double counting, items such 

as depreciation & amortization, sales of non-current assets 

are added back to the NI to get the OCF. Some examples of 

cash flows generated from investing activities are:  

¶ Disposal or Purchase of fixed assets  

¶ Disposal or Purchase to buy shares or interest in 

other joint ventures 

If we go back of the example from the previous paragraph, so 

far the cash generated by operating activities is $349,000. 

Furthermore, we want to see the cash flows generated by the 

investing activities. For example, imagine, at the beginning of 

Year-Two you decide to renovate the building owned by the 

restaurant business. The building is worth $300,000 on your 

balance sheet. The renovation costs you $50,000 and it lasts 

few months. The money spent in renovating the building is 

not operating expenses. Therefore, they can be defined as 
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capital expenditure since they increase the value of the 

building on the balance sheet. From the cash standpoint this 

means a cash outflow of $50,000. The cash flow will look like 

the following:  

As you can see from the image above, the $50,000 spent to 

improve the building will determine a cash outflow for the 

same amount. Therefore, CAPEX will be (50,000), that will 

reduce the cash generated in Year-Two. 

CASH FLOW FROM FINANCING: THE CASH PARADOX 
This is the cash generated through activities focused on 

raising money for the long-term growth of the business. In 

Chapter 6, we saw how important is for any business to find 

the resources to boost income in the long run. Indeed, too 

much debt can be lethal, while a business not able to issue 

debt through banks or other creditors may be a bad signal as 

well. In fact, when a business is lacking the credibility or 

trust of the markets, no one will lend money to it. For such 

reason, although raising debt translates to long-term 

liabiliti es and higher risk for the business, finding the 

optimal capital structure is crucial for any organizations. 

There is no magic rule for it. And it really depends on the 

kind of business you are operating. Of course, if you own a 

manufacturing company, it will need much more resources to 

run the operations, since it is much more capital intensive. 

Therefore, this implies a higher debt equity ratio, without 

making the business necessarily riskier, given its more stable 

income streams. On the other hand, if you own a service or IT 

ÏÒÇÁÎÉÚÁÔÉÏÎȟ ÙÏÕ ÄÏÎȭÔ ÎÅÅÄ ÍÕÃÈ ÃÁÐÉÔÁÌ ÔÏ ÒÕÎ ÔÈÅ 

operations and given the highly competitive industry, you 

will report unstable income streams. This makes the 

business more risky in its own right. Therefore, it is better to 
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have a lower debt to equity ratio. Not by chance, companies 

such as Apple and Microsoft keep high cash reserves. Indeed, 

a manufacturing company in a traditional industry has more 

chances to survive for decades. An IT organization has less 

chance to pass two decades of life. To go back to our previous 

example, remember that you bought the kitchen equipment 

for $100,000, in Year-One. You found the resources to buy 

them through one of your partners who loaned the money to 

the restaurant business to be repaid in three years. At the 

end of Year-/ÎÅ ÙÏÕ ÄÏÎȭÔ ÍÁËÅ ÁÎÙ ÐÁÙÍÅÎÔȟ ÂÕÔ ÁÔ ÔÈÅ ÅÎÄ 

of Year-Two you decide the pay half of the debt. This means 

you will report a cash outflow of $50,000. When liabilities 

decrease, they determine a cash outflow, since the debit is 

getting repaid and you are using cash to pay it back. 

Eventually, our cash flow will look like the following: 
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At the end of Year-Two, although a NI of $300,000, the net 

cash for the period was $249,000, while the cash from 

operations was $349,000. Due to an increase in net working 

capital, given by decreased inventory, that means the 

company sold more goods that it has purchased. This had a 

beneficial effect on cash that generated a cash inflow for 

$40,000. Further, an increase in AP determines a cash inflow 

as well. This is due to new credit condition given by 

suppliers. They allowed you to have more time to pay for the 

purchased goods or raw materials. When a business is able to 

play on the time difference between AR and AP it creates 

liquidity to run the business. Let me explain trough an 

example. Imagine, you own a business and you sell canned 

tomatoes. You do not produce them, since the product is 

bought from other tomato factories. Therefore, after getting 

the canned tomato from the manufacturer, you label it and 

sell it to final customers. Thereby, the tomato factory is your 

supplier, while the retailers are your customers. Thanks to 

the long-term friendship with the manufacturers you are 

able to secure payments every sixty days. On the other hand, 
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your customers pay you every thirty days. Imagine, you place 

the first order of canned tomatoes for $100 and you will 

repay them in sixty days. In the same day, the canned 

tomatoes are labeled and sold to customers. They pay you $2 

per piece and buy 100 pieces. At the end of the first month 

you generated $200 in revenue and one additional month to 

pay your suppliers. Therefore, in one month you generated 

$100 of additional profits financed by your customers. 

Companies which are able to tight the AR while stretching 

the AP can generate additional liquidity for the organization, 

with no additional cost. 
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PART THREE 

THE FINANCIAL TOOLBOX  
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CHAPTER 8. THE RATIO ANALYSIS 
Ȱ7ÈÁÔȭÓ ÍÅÁÓÕÒÅÄ ÉÍÐÒÏÖÅÓȱ Peter Drucker  (Credit: 

GoodReads) 

In the previous chapters we built the three main financial 

statements. While the CFS is mainly focused on cash, the P&L 

and BS are respectively concerned with return and risk. By 

ÌÏÏËÉÎÇ ÁÔ ÔÈÅÓÅ ÓÔÁÔÅÍÅÎÔÓȟ ÙÏÕ ×ÏÎȭÔ ÂÅ ÁÂÌÅ ÔÏ ÆÉÎÄ ÁÎÙ 

answer unless you ask the right questions. Although the 

financial statements give you already a great deal of 

information about the business there is still something 

missing. 

WHY RATIO ANALYSIS? BE QUICK. BE READY 
It allows you to answer to questions such as: How profitable 

is the company? Will the organization be able to meet its 

obligations in the short and long term? How effectively is the 

organization using its resources? Of course, some of the 

ratios (such as the profitability ratios) if not assessed against 

other ratios do not mean anything. In addition, if you want to 

know more about one company you have to analyze it in 

comparison with other companies which present the same 

characteristics, such industry , geography, customers and so 

on. For example, if you are performing an analysis on Apple, 

you cannot compare its ratios with Coca Cola. Instead, you 

should compare Apple with Samsung or Microsoft. Therefore, 

the ratio analysis is a tool that gives you the opportunity to 

interpret the information provided by the P&L and BS to 

understand how the business is operating in the 

marketplace. Furthermore, it is a quick way to assess the 

condition of a business. In this chapter we are going to see at 

work the four main categories of ratios:  

http://www.goodreads.com/quotes/172730-what-s-measured-improves
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¶ Liquidity  

¶ Profitability  

¶ Solvency  

¶ Efficiency  

 

In this chapter, we are going to study the main ratios used for 

each category.  

LIQUIDITY RATIOS: ARE WE SURVIVING? 
As we saw previously, liquidity is the capacity of a business 

to find the resources needed to meet its obligations in the 

short-term. For such reason, the liquidity on the BS is 

measured by the presence of Current Assets in excess of 

Current Liabilities or the relationship between current assets 

and current liabilities. Why do we need to assess the liquidity 

of a business? For several reasons; Imagine, you are 

establishing a contact with a new supplier. There is not 

precedent history between you two. The supplier wants 

some sort of guarantee you will be able to meet the future 

obligations. Therefore, he asks for a credit report about your 

organization. This report shows whether an organization has 

enough liquidity to sustain its operations. How? Based on the 

main liquidity ratios of your organization a rating will be 

assigned. The rating is a grade the organization gets if it 

meets certain criteria. Based on that rating the supplier will 

decide whether to entertain business with you or not. 

Another example, imagine you want to open an overdraft 

account with a local bank. The same scenario applies, since 

the local bank will assess you credit score before approving 

the overdraft. Thereby, the bank will look at your BS and see 

how liquid is the organization.  
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What are the main liquidity ratios? 

 

Current Ratio  

This ratio ÓÈÏ×Ó ÔÈÅ ÒÅÌÁÔÉÏÎÓÈÉÐ ÂÅÔ×ÅÅÎ ÔÈÅ ÃÏÍÐÁÎÙȭÓ 

current assets over its current liabilities. It measures the 

short-term capability of a business to repay for its 

obligations: 

 

Current Assets 

Current Liabilities x 

 

Example: Imagine, your organization, in Year-Two has total 

current assets for $100K and total current liabilities for 

$75K. Therefore: 100/75= 1.33 times. Your Current ratio is 

1.33.  

Is it good or bad? Well, it depends. You have to compare this 

data with the previous year ratio. In addition, it depends by 

the kind of industry you are operating within. Of course, a 

clothing store or specialty food store will have a much 

greater current ratio . Thereby the current assets will be 4 or 

5 times the current liabilities, mainly due to large 

inventories. Other companies, such as the ones operating in 

the retail industry can have current ratios lower than 1, due 

to favorable credit condition from their suppliers. This 

allows them to operate with insignificant amount of 

inventories. For example, companies such as Burger King will 

have a ratio as high as 1.5, while companies such as Wal-Mart 

as low as 0.3.  

Quick Ratio (Acid or Liquid Test) In Chapter 6, we saw the 

items organized on the BS from the most liquid (cash) to the 

least liquid (inventories and prepaid expenses). We can 
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define the current assets as those ones converted in cash 

within on e accounting cycle. Therefore, the current ratio tells 

us if an organization has enough resources to pay for its 

obligations within one year or so. What if we want to know 

whether the organization is liquid in the shorter term? Well, 

the Quick ratio or acid test is a more effective way to 

measure liquidity in the very short -term. Indeed, the quick 

ratio formula is: 

Liquid Assets 

Current Liabilitiesxi 

 

How do we define liquid assets? Liquid assets are defined as 

Current Assets minus Inventory and Pre-paid expenses. 

Although, inventory and pre-paid expenses are current 

assets, they are not always turned into cash as easy as 

anyone would think.  

Example: Imagine that of $100K of current assets. Of which 

$80K are liquid assets, the remaining portion is inventory. 

The liability stays at $75k. The quick ratio will be 1.06 times 

or $80K/$75K. Therefore, the liabilities can be met in the 

very short-term trough tÈÅ ÃÏÍÐÁÎÙȭÓ liquid assets. To 

assess if there was an improvement on the creditworthiness 

of the business we have to compare this data with the 

previous year. Although, a quick ratio over 1, can be 

generally accepted, while below 1 is generally seen as 

negative, since you will not be able to pay very short term 

obligations unless part of the inventories are sold to find 

resources for the business. 

Absolute Ratio  

This is the third current ratio, less commonly used compared 

to current and quick ratio. If the quick ratio is more stringent 



 82 

in comparison to the current ratio, the absolute ratio is the 

strictest of the three. This is given by: 

 

 

Absolute Assets 

Current Liabilitiesxii 

 

Liquid assets minus Accounts receivable give the absolute 

assets. Generally, cash on hand and marketable securities are 

part of the absolute assets. The purpose of the absolute ratio 

is to determine the liquidity of the business in the very short-

term (few days).  

 

Using one current ratio or the other is really up to you and it 

depends by the kind of analysis performed. Of course, if you 

want to know if an organization would be able to pay in 

three-month time frame, then, the Quick Ratio may be more 

appropriate measure of liquidity compared to the Current 

Ratio. 
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PROFITABILITY RATIOS: UNDERSTANDING THE 

BUSINESS OPERATIONS  
The main profitability ratios used in financial accounting are: 

¶ Gross profit margin 

¶ Operating profit margin 

¶ Return on capital employed (ROCE) 

¶ Return on equity (ROE) 

 

 

Gross Profit Margin  

This is the relationship between Goss Profit and sales and it 

is expressed in percentage: 

 

Gross Profit (Revenue ɀ Cogs) x 100% 

     Salesxiii  

 

Imagine, company XYZ had $100K in Gross profit and $250K 

in Sales, for Year-Two, therefore: 

(100/250) * 100% = 40% 

It means that 60% of your income is used to cover for the 

cost of goods sold.  This ratio is very important, since for 

many organizations, in particular manufacturing, most of the 

costs are associated to COGS. Therefore, this measure can be 

very helpful to assess the overall profitability of the business. 

 

Operating Profit Margin   

This is a relationship between Operating Profit and Sales and 

it is expressed in percentage: 
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Operating Profit  (Revenue ɀ Cogs - Op. Expense) x 100% 

            Salesxiv 

 

Imagine, in Year-Two, the Operating profit was $25K and 

your revenue $250K. Therefore: 

 

     (25/250) * 100% = 10% 

This measure compared to the Gross Profit Margin has a 

wider spectrum and it allows determining the profitability of 

the overall operations. Indeed, the operating profit is 

considered one of the most important metrics within the 

P&L. Furthermore; the Operating Profit can be influenced by 

ÍÁÎÁÇÅÒÓȭ ÃÈÏÉÃÅÓȢ &or such reason it is one of the most 

important metrics.  

 

Return on capital employed   

This measure assesses whether the company is profitable 

enough, considering the capital invested in the business. 

Indeed, it tells for each dollar invested in the business, how 

much return is generated. Indeed, the ROCE is the 

relationship between Operating Profit, and Capital 

%ÍÐÌÏÙÅÄȟ ÅØÐÒÅÓÓÅÄ ÉÎ ÐÅÒÃÅÎÔÁÇÅ ÔÅÒÍÓȢ ,ÅÔȭÓ ÓÅÅ ÂÅÌÏ× 

what is considered capital employed: 

 

Operating Profit   x 100% 

Capital Employed (Total Assets ɀ Current Liabilities)xv 

Imagine, company XYZ operating profit for Year-Two are 

$100K and the capital invested in the business (your total 

assets ɀ current liabilities) is $500K. The ROCE will be 0.2 or 
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20% ((100/500) * 100%). Therefore, for every dollar 

invested in the business the company made 20 cents. 

Return on Equity   

This is the relationship between net income and shareholder 

equity or, the amount of income generated by the 

shareholders investment in the organization. This is one of 

the most used ratios in finance. The formula for the ROE is: 

 

Net Income    x 100% 

Shareholders Equityxvi 

Imagine the net income of Company XYZ in Year-Two was 

$20K and you invested $100K, therefore the ROE is (20/100) 

x 100% = 20%.  
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SOLVENCY RATIOS: LOOKING FOR A LONG-TERM 

INVESTMENT  
The solvency ratios also called leverage ratios help to assess 

the short and long-term capability of an organization to meet 

its obligations. In fact, while the liquidity ratios help us to 

assess in the very short-term the health of a business, the 

solvency ratios have a wider spectrum. Be reminded that the 

assets can be acquired either through debt or equity. The 

relationship between debt and equity tells us the capital 

structure of an organization. They help us to answer 

questions such as: Is the company using an optimal capital 

structure? If not, is debt or equity the problem?  If debt is the 

problem, will the company be able to repay for its contracted 

debt through its earnings?  The main solvency ratios are: 

¶ Debt to equity ratio 

¶ Interest Coverage Ratio 

¶ Debt to Assets 

Debt to equity ratio 

This ratio explains how much larger is the debt in 

comparison to equity. This ratio can be expressed either as 

number or percentage. The formula to compute the debt to 

equity ratio is: 

Total Liabilities  

3ÈÁÒÅÈÏÌÄÅÒÓȭ %ÑÕÉÔÙxvii 

 

The debt to equity ratios is also defined as gearing ratio and 

measures the level of risk of an organization. Indeed, too 

much debt generates high interest payments that slowly 

erode the earnings. When things go right and the market is 
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favorable companies can afford to have higher level of 

leverage. However, when the wind changes such companies 

find them in financial distress. Indeed, as soon as the 

revenues slow down they are not able to repay for their 

scheduled interest payments. Therefore, they either have to 

restructure their debt or face bankruptcy, as happened 

during the 2008 economic downturn. Imagine that you own a 

Coffee Shop and in the second year of operations, after many 

investments to buy new fancy machines, the balance sheet 

shows $200K in total liabilities and $50K in equity. 

Therefore, your debt to equity ratio is 4 or 200/50. Is it good 

or bad? Of course a gearing ratio of 4 is very high. This means 

that if things go wrong for few months you will not be able to 

sustain the business operations. Not all contracted debt is 

bad. Indeed, debt that allows you to pay fixed interest helps 

companies to find their optimal capital structure. Instead, 

any variable obligations may result in burdening debt 

repayment schedules and consequently to financial distress. 

To determine whether the debt to equity ratio of 4 is high or 

low you want to compare it against previous year financials 

and competitors. If we go back to the coffee shop example, a 

debt to equity ratio of 4 is ok if all the other coffee shops in 

the neighborhood operate with the same level of risk. It can 

be that operating margins for coffee shop are so high that 

you are able to handle the debt burden. Imagine the opposite 

scenario, where all the coffee shops in the area operate with 

a leverage of 2. If the price of the raw materials surge and 

stays the same for few months, you will have to raise the 

price of the coffee you sell. This in turn will slow down the 

revenues. While many coffee shops in the neighborhood will 

be able to handle the situations, your coffee shop with a 

gearing of 4 will go bankrupt after just two months.  
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Interest Coverage Ratio                                                                    

This ratio helps us to further investigate on the debt burden 

a business carries. In the previous example we saw how the 

leverage can lead to financial distress. The interest coverage 

tells us if the earnings generated are enough to cover for the 

interest expenses. Indeed the interest coverage formula is: 

EBIT 

Interest Expensexviii  

 

The EBIT (earnings before interest and taxes) has to be large 

enough to cover for the interest expense. A low ratio  means 

that the company has too much debt and earnings are not 

enough to pay for its interest expense. A low ratio means 

instead the company is safe. Keep in mind that being too safe 

can be limiting as well. In fact, an organization not able to 

leverage on debt may miss many opportunities or become 

the target of larger corporations. Imagine that your coffee 

shop at the end of the year generated $10K in net income. 

The Interest expense is $120K and taxes $20K. How do we 

compute the interest coverage ratio? 

First, take the net income, $10K and add back the interest 

expense, $120K. This gives you the EBIAT or earnings before 

interest after tax. The EBIAT is 10 + 120 = 130. 

Second, take the EBIAT and add back the tax expense. 

Therefore you will get the EBIT. The EBIT is 130 + 20 = 150. 

Third, take the EBIT and divide it by your interest expense. 

Therefore, 150: 120 = 1.25 times. 
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This implies that the EBIT is 1.25 times the interest expense. 

Therefore the company generates just enough operating 

earnings to cover for its interest. However, it is very close to 

the critical level of 1. Below 1 the company is highly risky. 

Indeed, it may be bankrupt anytime soon. 

Debt to Assets Ratio  

This ratio explains how much debt was used in acquiring the 

ÃÏÍÐÁÎÙȭÓ ÁÓÓÅÔÓ ÁÎÄ ÉÔ ÉÓ ÅØÐÒÅÓÓÅÄ ÅÉÔÈÅÒ ÉÎ ÎÕÍÂÅÒ ÏÒ 

percentage. The formula is: 

Total liabilities 

Total Assetsxix 

 

Imagine your coffee shop shows on the balance sheet $200K 

of total liabilities and $50K of equity. How do we compute 

the debt to asset ratio? In chapter 6 we saw the accounting 

equation: assets = liabilities = equity.  

First, leÔȭÓ ÃÏÍÐÕÔÅ ÔÈÅ ÔÏÔÁÌ ÁÓÓÅÔÓȡ Αςππ+ ÏÆ ÌÉÁÂÉÌÉÔÉÅÓ Ϲ 

$50K of equity = $250K. 

Second, ÌÅÔȭÓ ÃÏÍÐÕÔÅ ÔÈÅ ÄÅÂÔ ÔÏ ÁÓÓÅÔ ÒÁÔÉÏȡ Αςππ ÏÆ 

liabilities / $250 of total assets = 0.8. 

4ÈÉÓ ÍÅÁÎÓ ÔÈÁÔ ψπϷ ÏÆ ÔÈÅ ÃÏÍÐÁÎÙȭÓ ÁÓÓÅÔÓ ÈÁÖÅ ÂÅÅÎ 

financed through debt. A ratio lower than 0.5 or 50% 

indicates a fair level of risk. A ratio higher than 0.5 or 50% 

can determine a higher risk of the business. Of course this 

ratio needs to be assessed against comparable companies.   

EFFICIENCY RATIOS: ARE WE CREDITWORTHY? 
They assess if an organization is using its resources in an 

efficient way.  The main efficiency ratios are: 
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¶ Inventory Turnover 

¶ Accounts Receivable Turnover or collection period 

¶ Accounts Payable Turnover 

 

These ratios are called turnover since they measure how fast 

current and non-current assets are turned over in cash. 

Inventory Turnover     

This ratio shows how the well the inventory level is managed 

and how many times inventory is sold during a period of 

time. The faster an organization is able to turn its inventor y 

in sales, the more efficient and effective it is. This ratio is 

expressed in number. The formula is: 

Cost of goods Sold 

Average Inventory Costxx 

 

Imagine that your coffee shop at the end Year Two sold 

$100K of coffee, with a $40K gross income. The inventory at 

the beginning of the year was $6K and at the end of the year 

was $8K. How do we compute our inventory turnover ratio?  

&ÉÒÓÔȟ ,ÅÔȭÓ ÃÏÍÐÕÔÅ ÏÕÒ #/'3Ȣ !Ó ÙÏÕ ËÎÏ× ×Å ÈÁÄ Αρππ+ ÉÎ 

sales and $40K in gross income, therefore our COGS will be: 

100 ɀ 40 = $60K.  

3ÅÃÏÎÄȟ ,ÅÔȭÓ ÃÏÍÐÕÔÅ ÏÕÒ ÁÖÅÒÁÇÅ ÉÎÖÅÎÔÏÒÙȢ 4ÈÅ ÂÅÇÉÎÎÉÎÇ 

and ending balances were respectively $10,000 and $12,000, 

therefore our average inventory will be: (10,000 + 12,000)/2 

= $11,000.  
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Third, ,ÅÔȭÓ ÃÏÍÐÕÔÅ ÔÈÅ ÉÎÖÅÎÔÏÒÙ ÒÁÔÉÏ ÇÉÖÅÎ ÂÙ 

COGS/Average inventory, therefore: 60,000/11,000 = 5.45 

times.  

This means that in one year time the inventory will be sold 

5.45 times. How do we know how long it will take for the 

average inventory to be turned in sales? 

Well, to compute the days it will take to turn the inventory in 

sales, compute the following formula: 

                  365 days/5.45 times = 67 days 

Through this ratio you know that every 67 days your 

inventory will be turned in sales. A high inventory ratio 

indicates a fast moving inventory and a low one indicates 

slow moving inventory. Of course a ratio of 5.45 is a great 

since it means no capital is tied up to inventories and you are 

using the liquidity more efficiency to run the business. 

However this ratio needs to be compared within the same 

industry.  

Accounts Receivable Turnover or collection period   

This ratio measures how many times the accounts receivable 

can be turned in cash within one year. Therefore, how many 

the company was able to collect the money owed by its 

customers.  It is expresses in number and the formula is: 

Sales or Net Credit Sales 

Average Accounts Receivablexxi 

 

The net credit sales are those that generate receivable from 

customers. Indeed, each time a customer buys goods, if the 

payment is postponed at later date, this event generates 
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receivable on the balance sheet. Therefore, the transaction 

will be recorded as revenue on the income statement and as 

account receivable on the balance sheet. Imagine the coffee 

shop you run sold $100K of coffee bags, of which $50K in 

gross credit sales. Of the $50K in gross credit sales, $10K of 

coffee bags was returned. The accounts receivable previous 

yearȭs balance was $12,000, while this year $10,000. How do 

we compute the accounts receivable turnover? 

First, lÅÔȭÓ ÃÏÍÐÕÔÅ ÏÕÒ ÎÏÍÉÎÁÔÏÒȟ ÔÈÅ ÎÅÔ ÃÒÅÄÉÔ ÓÁÌÅÓȢ 4ÈÉÓ 

is given by the gross credit sales minus the returned product. 

Therefore: 50,000 ɀ 10,000 = $40K of net credit sales. 

Second, lÅÔȭÓ ÃÏÍÐÕÔÅ ÔÈÅ ÁÖÅÒÁÇÅ ÉÎÖÅÎÔÏÒÙ ÔÈÁÔ ÉÓ ÇÉÖÅÎ ÂÙ 

the average between previous and current year, therefore: 

(12,000 + 10,000)/2 = $11,000 average receivable.  

Third, lÅÔȭÓ ÃÏÍÐÕÔÅ ÔÈÅ ÒÅÃÅÉÖÁÂÌÅ ÔÕÒÎÏÖÅÒ ÇÉÖÅÎ ÂÙ ÔÈÅ ÎÅÔ 

credit sales over the average inventory. Therefore: 

40,000/11,000 = 3.64 times. 

It means that the receivables were turned into cash 3.64 

times in one year.  

To know how many days it took to collect the money lumped 

in the receivable we will use the formula below: 

          365/3.64 = 100 

The receivables were turned into cash in 100 days. This is a 

good receivables level it means that you are able to collect 

money from your customers on average every 100 days. 

When the receivable level is too low, you want to turn your 

attention  on the collection department and make sure they 
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make the collection period as short as possible. Indeed, this 

will give additional liquidity to the business. 

Accounts Payable Turnover Ratio 

This ratio shows how many times the suppliers were paid off 

within one accounting cycle. This ratio is expressed in 

number and the formula is: 

Credit Purchases 

Average Accounts Payablexxii 

 

The payable turnover ratio is the flip side of the receivable 

ratio. The credit purchases are those ones, which generate 

ÐÁÙÁÂÌÅ ÏÎ ÔÈÅ ÃÏÍÐÁÎÙȭÓ ÂÁÌÁÎÃÅ ÓÈÅÅÔȢ 4ÈÅÒÅÆÏÒÅȟ ÅÁÃÈ 

time a purchase on credit is made, this will show as COGS 

and the income statement and as account payable on the 

balance sheet. Imagine that at the end of year two you 

purchased $25K of raw materials from suppliers, although, 

$5K was returned. The accounts payable was $5K on the 

previous year and $7K this year. How do we compute the 

accounts payable turnover? 

&ÉÒÓÔȟ ÌÅÔȭÓ ÃÏÍÐÕÔÅ ÔÈÅ ÎÅÔ ÐÕÒÃÈÁÓÅ ÁÍÏÕÎt given by the 

gross purchase amount minus the returned supplies, 

therefore: 25K ɀ 5k = $20K of net purchases.  

Second, lÅÔȭÓ ÃÏÍÐÕÔÅ ÔÈÅ ÁÖÅÒÁÇÅ ÐÁÙÁÂÌÅȢ )Î ÙÅÁÒ ÏÎÅ ÔÈÅ 

payable was $5K and $7K in year two. Therefore: (5K + 

7K)/2 = $6K in accounts payable. 

Third, lÅÔȭÓ ÃÏÍÐÕÔÅ ÔÈÅ ÐÁÙÁÂÌÅ ÔÕÒÎÏÖÅÒ ÇÉÖÅÎ ÂÙ ÔÈÅ ÎÅÔ 

purchases over the average accounts payable = 20K/6K = 3.3 

Times. 
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The supplier during the current year were paid 3.3 times, it 

means that every 110 days (365/3.3) the debt with the 

suppliers has been paid off. Keeping a high payable turnover 

is crucial to conduct business. Indeed, suppliers will assess 

whether or not entertain business with an organization 

based on its capability to quickly repay for its obligations.  

 

 

 

THE ROE IS A FRAUD 
This may seem a strong statement, although the ROE is the 

most commonly used financial ratio. Indeed, the ROE is the 

relationship between NI and Shareholders equity or 

outstanding shares. Why is this ratio misleading? It can be 

easily manipulated. Indeed, there are several ways an 

organization can manipulate its shareholders equity, let me 

list just few of them: 

¶ Buybacks: this consists of operations where 

companies repurchase their shares from the 

marketplace. Consequently these shares are in many 

cases cancelled. This determines a reduction in 

outstanding shares on the balance sheet and a 

consequent increase in ROE, even though nothing has 

changed. 

¶ Dividendsȡ 7ÈÅÎ ÔÈÅÙ ÁÒÅ ÐÁÉÄ ÏÕÔȟ ÔÈÅ ÓÈÁÒÅÈÏÌÄÅÒÓȭ 

equity on the balance sheet decreases. This happens 

due to the fact that retained earnings reduction 


































